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Question Number : 1 Question Id : 97675532401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P, Q, R, S and T are five friends of different heights. P is shorter than Q but taller than T. R is the tallest. S is taller than Q. Who among them is
the shortest?

Options :
1. % Q
2.% P
3.% S
4. ¥ T

Question Number : 1 Question Id : 97675532401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

P, Q, R, S 3R T Uid fil &1 TS S-SRI P, QU BRI WY TA T 8| R ITA AT g1 S, Q ¥ TSI 5 | I8 I Ta BT DI g2
Options :

1. % Q

2. % p

3. % S

4. ¢ T

Question Number : 2 Question Id : 97675532402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Five students L, M, N, O and P got their results in their final examination. N scored more than P but less than O. M scored more than O. Only
one person scored more than M. Who among them scored the highest?

Options :
1.¥ L

2.% 0
3.% P
4. % M

Question Number : 2 Question Id : 97675532402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

.Y L

2. %0

3.%p

4. % M

Question Number : 3 Question Id : 97675532403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A, B, C, D, E and F gave an exam every month for three months. In the first month, they scored 30 marks. In the second, they scored 45 marks.
Their average score over the three months was 34 marks. How many marks did they score in the third month?

Options :
1. % 26
2. % 31
3.9 27
4. % 40

Question Number : 3 Question Id : 97675532403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B, C, D, E 3R F 3 fF 7€ a0 U He - U Uilen <1 Uga 7e H, 351 30 3ich U fu| gk e & 3= 45 3ich U gul i
e o 37 3Nd 3fah 34 | TR TEH | I1A favam 3fe U far?

Options :

1. ® 26

2. % 31

3. 27

4. % 40

Question Number : 4 Question Id : 97675532404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B, C, D, E, F and G stay on different floors of a 7-floored building. The ground floor is numbered 7, the floor above that is numbered 6 and
then 5 and so on until the topmost floor which is numbered 1. B, C, E and G stay on the prime numbered floors. B, D and F stay on the even
numbered floors consecutively. A, C, E and G stay on the odd numbered floors consecutively. Who stays on floor number 5?

Options :
1. % A
2.% B
3.%D
4. ¥ E



Question Number : 4 Question Id : 97675532404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B, C,D,E, F 3R G & 7 HiTe SHRA & fafid dall R Igd 8| Ydd B! G- 7 8§, SUP HUR & dd ! BT 6 § 3R 3P SR 5 3R
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Options :

L% A

2. % B

3. %D

4 ¥ F

Question Number : 5 Question Id : 97675532405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the given information carefully and answer the question that follows.

A public school wants to recruit some Post-Graduate Teachers in the subjects of Mathematics, Psychology, Physics, and Fine Arts. Applications
were invited latest by 21.03.2021.

The following criteria were laid down for the selection:

(1) The candidate must be a post-graduate in the relevant subject securing at least 50% marks.

(i1) The candidate must have a B.Ed. degree with at least 45% marks.

(111) Two years’ work experience is desirable but not compulsory.

(iv) The candidate must have secured at least 50% marks in the selection interview.

(v) The upper age limit is 30 years as on the last date of application.

Based on the above information, decide whether the following candidate is eligible for the recruitment process and select your answer from the
given options. You should not assume anything other than the information provided.

Savita Choudhary was born on 1 July 1993. She got her B.Ed. degree in 2015 with 51% marks, and M.A. (Master of Arts) in Fine Arts in 2018
securing 54% marks. She performed well in the selection interview and scored 56% marks.

(A) She should be selected as she meets all the criteria.

(B) She should be rejected as she does not fulfil the age criterion.

(C) She should be rejected as the requisite experience is not met.

(D) She has missed filling the required data.

(E) She should be rejected as she scored low in the selection process.

Options :



1.¥ A
2.% C
3. D
4. % E

Question Number : 5 Question Id : 97675532405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥ A

2. % C

3.%D

4. % E




Question Number : 6 Question Id : 97675532406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Viplavan ranks 51 from the top and 30 from the bottom in a sports club. How many students are there in the sports club?
Options :

1. % 32

2.% 33
3.¢ 34
4. % 35

Question Number : 6 Question Id : 97675532406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o N C . a- e‘ﬁq a- N C Y .
[T Teh Wicqaadd § $HWR I 5 T2 307 WA R B WETaas A fram 83 82
Options :

1. % 32

2. % 33

3.¢ 34

4. % 35

Question Number : 7 Question Id : 97675532407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
This question is based on the following words.

ARM MAN BAY ASK

How many letters are there between the third letter of the second word from left and the second letter of the first word from right, in English
alphabetical series?

Options :
1. ¥ Four

2. % Seven



3. # Five

4. % Six

Question Number : 7 Question Id : 97675532407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ig Uy FRafafad Tssf tr aneuika 21

ARM MAN BAY ASK
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Options :
1. ¥ dR
2. % 4Id
3. % U
4. ® 3g

Question Number : 8 Question Id : 97675532408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Refer to the given letter, number, symbol string and answer the following question.

U3OW6+E!4D#M5$8GyF8VIQA9%

If the numbers immediately preceded by a letter and immediately followed by a symbol are doubled in their numerical value, what will be the
sum of values of all such numbers?

Options :
1. % 44
2. % 56
3.¢¥ 62
4. % 78

Question Number : 8 Question Id : 97675532408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 44

2. % 56

3.v 62

4. % 78

Question Number : 9 Question Id : 97675532409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The given statement is followed by two conclusions, numbered I and II. Decide which of the given conclusions is/are true based on the given
statement.

Statement:
A=B<D<C=E<F

Conclusions:
I. B>C
IL.F>D

Options :

1. * Only conclusion I

2. % Only conclusion II

3. # Both conclusions I and II

4. % Neither conclusion I nor I1

Question Number : 9 Question Id : 97675532409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

feu MU YA & a1 gl s 1 3R 11 feu U §1 fRU U Y9 & 3MUR IR I8 a8 &+ &b feu 7 sl & @ o9 918 sy 9 2/8 |

DY:
A=B<D<C=E<F

.
. B>C
II.LF>D

Options :

1. % had sy [

2. ¢ Had B 11

3. % fAspY 1 3R 11 gH

4. % g fasey 1 IR TS I

Question Number : 10 Question Id : 97675532410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The given statement is followed by two conclusions, numbered I and II. Decide which of the given conclusions is/are true based on the given
statement.

Statement:
H=1#K<L=P<G

Conclusions:
I.P>K
ILK<G

Options :

1. # Only conclusion I

2. % Only conclusion II

3. % Both conclusions I and II

4. % Neither conclusion I nor II

Question Number : 10 Question Id : 97675532410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fCu MU Y & a1 gl s 1 3R 11 fRu U 81 fRU U Y9 & YR IR I8 ad x b feu 7w i & A pH I 9 28 |

DhY:
H=1#K<L=P<G

frsp:
I.P>K
ILK<G

Options :

1. % PHad ([THY |

2. % Had [pY I

3. ¢ e [ 3R 11 AT

4. % TR ABY 1 IRAR I

Question Number : 11 Question Id : 97675532411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sobia walk 15 km north from her house. She then turned towards east and walk 20 km. Then, she took a left turn and walk for 5 km. She then
took a final left turn and walk for another 30 km to reach her destination. In which direction is her destination from her house?

Options :

1. ¥ North-west
2. # South-west
3. % North-east
4. ¥ South-east

Question Number : 11 Question Id : 97675532411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ SR-UEH




Question Number : 12 Question Id : 97675532412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pointing to a girl, Ashutosh said, “The girl is the granddaughter of my mother’s husband. I do not have any brother or sister”. How is the girl
related to Ashutosh?

Options :

1. ¥ Daughter
2. # Sister

3. ® Niece

4. ¥ Mother

Question Number : 12 Question Id : 97675532412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ 9

2. % dg

3. % YiGlt

4. % H

Question Number : 13 Question Id : 97675532413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ramesh and Suresh are twins. Suresh’s sister is Seema. Seema’s husband is Rajesh. Ramesh’s mother is Priyanka. Priyanka’s husband is Raghav.
How is Raghav related to Rajesh?

Options :



1. ¥ Father-in-law
2. % Brother
3. % Son

4. % QGrandfather

Question Number : 13 Question Id : 97675532413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A R G gl 81 G B a5 Far 81 A 3 ufa T ¥ 1 I B A Wbt ¥ 1 et & ufy Irwa €1 e, 00 A H Feifda B2
Options :

1. ¥ 9qgr

2. % TS

3. % qcT

4. % qlal

Question Number : 14 Question Id : 97675532414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In class XII, there are 270 MPC students and the number of boys is twice the number of girls. One of the boys, Kishore, ranks 35% from the top
and only 15 girls are ahead of Kishore. How many boys rank after him?

Options :
1. % 132
2. % 125
3.9 160
4. % 105

Question Number : 14 Question Id : 97675532414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 132
2. % 125
3. ¥ 160
4. % 105

Question Number : 15 Question Id : 97675532415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are six floors in a building. The ground floor is numbered as zero and the floor above it as numbered as 1 and so on till 5. Also, the same

building has two basements numbered —1 and below it is —2.

Sth Sth

A goes to basement —2 from the 4th floor. B goes to the 5™ floor from basement —1. C goes from the 3" floor to the 5 floor. D goes from the

ground floor to the 21 floor. They all are moving simultaneously.

Sth

If we go to the 5™ floor after all have moved, then who all will meet?

Options :

l.¥ Band C
2. % Aand D
3.% Cand D
4. % Aand B

Question Number : 15 Question Id : 97675532415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥ B3R C




Question Number : 16 Question Id : 97675532416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sonam walks 50 metres south. Then, she turns right and walks for another 80 metres. She then turns right and walks for another 50 metres. How
many metres and in which direction would she have to walk to return to her starting point?

Options :

1. # 50 metres, West
2. % 80 metres, South
3. ¥ 80 metres, East

4. # 50 metres, South

Question Number : 16 Question Id : 97675532416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 50 Hiex SR @t 3R Tt g1 fihx, 98 T gadt § 3R 80 Hier iR Ia & | bR 98 o g3t & SR fhr 50 Hiex gadt 81 3A
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Options :

1. % 50 Hex, ufgm

2. % g0 Hiex, faror

3. ¢ 80 Hier, gd

4. % 50 Hiex, gféor

Question Number : 17 Question Id : 97675532417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘A + B’ means A is the father of B’, ‘A + B’ means ‘A is the daughter of B’. Based on this information, how is P
related to Q if ‘P+ R +S+Q’?

Options :



1. #® Father’s mother
2. % Mother

3. % Father’s sister
4. ® Brother’s son

Question Number : 17 Question Id : 97675532417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % fUar & |rdn

2. % Hral

3. ¢ fUdr &t 9g4

4. % S HT I

Question Number : 18 Question Id : 97675532418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third figure in the same way as the second figure is related to the first figure.

€ & ® S

© O ® ©| ?
& || %%« | [T

Figure 1 Figure 2 Figure 3

Options :



®» ®

C

@ @
2. % @
©@

®» ®
| @
®

® ®
4.9 ©

Question Number : 18 Question Id : 97675532418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 19 Question Id : 97675532419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a group of 6 friends, each one has different height. If Manya is shorter than 4 of her friends, how many friends are shorter than Manya?
Options :

1. %3

2.%°5

3.¢¥ 1

4. % 2

Question Number : 19 Question Id : 97675532419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. %3

2.%5

3.¢ 1

4. % 2

Question Number : 20 Question Id : 97675532420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Refer to the given letter, number, symbol string and answer the following question.



POTUZ@KO6#3H9$4E%L8<2TO6G¥B8C

How many such numbers are there in the string, each of which is immediately preceded by a symbol but NOT immediately followed by a vowel?
Options :

1. % 2

2.9 3

3.% 4

4. % 5

Question Number : 20 Question Id : 97675532420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 2
2.¥3
3.% 4
4. % 5
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Question Number : 21 Question Id : 97675532421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Elon Musk-owned has incorporated its wholly-owned subsidiary in India on November 1, 2021 to start local broadband operations.
Options :

1. * SpaceS

2. ¥ SpaceX

3. % SpaceY

4. % SpaceZ

Question Number : 21 Question Id : 97675532421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :




1. ® SpaceS (TUTUH)

2. ¥ SpaceX (@m
3. % SpaceY (TATS)
4. ® SpaceZ @ﬂ@f@)

Question Number : 22 Question Id : 97675532422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On October 23, 2021, India’s first IVF (in-vitro fertilisation) calf of breed of buffaloes was born at a farmer’s house in Gir Somnath
district of Gujarat.

Options :

1. ¥ Banni

2. # Mehsana
3. % Murrah
4. % Bargur

Question Number : 22 Question Id : 97675532422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

23 S(TCER 2021 B, T B T 1 YR BT U dT 318,91, (37-fag! BiearsoRH) g« (T8 e/dde!) ToRId & TR Ty
STl O Uep fobaT o ©R SI=T T

Options :

1. ¢ g4t

2. % TEHTUN/AGE
3. % )T

4. % §IR

Question Number : 23 Question Id : 97675532423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The National Cancer Awareness Day is observed annually in India on to spread awareness on cancer.
Options :



1. # September 2
2. % October 21
3. % November 7
4. % August 21

Question Number : 23 Question Id : 97675532423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRd H gfday B HAR & IR H SIRREH AT el & oL AP HIR SRl [Gas FH1T Sl 3
Options :

1. % 2 RydeR”

2. % 21 KR

3. ¢ 7R

4. % 21 3ARd

Question Number : 24 Question Id : 97675532424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Prime Minister Narendra Modi unveils Shri Adi Shankaracharya Samadhi in on Nov 51 2021.
Options :

1. ¥ Kedarnath

2. % Rameswaram

3. ¥ Dwaraka

4. % Somnath

Question Number : 24 Question Id : 97675532424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y Hafl g Hid 3 5 TdeR 2021 B 7 oft 3nfe <ipr=mt TaIfYy &7 TR foha |
Options :

1. ¥ HERAY



2. % JHRA
3. % gRMI
4. % QEAY

Question Number : 25 Question Id : 97675532425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which Indian boxer managed to clinch the bronze medal at the 2021 AIBA Men’s World Boxing Championships on November 05, 2021 at
Belgrade in Serbia?

Options :

1. # Satish Kumar
2. ¥ Manish Kaushik
3. # Vijender Singh
4. ¥ Akash Kumar

Question Number : 25 Question Id : 97675532425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI T YR I aTe! 05 FdaR, 2021 P a1 & JAUS H 2021 T3S H.T. (AIBA) A= dC SITRIT AFUTHRIT H H1% U Sita- o
Wb RBI?

Options :

|, % G $UR

2. % TN DIRG

3. # faoier Rig

4. ¥ PR PHAR

Question Number : 26 Question Id : 97675532426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who was the founder of the Rashtrakutas dynasty?
Options :

1. % Amoghavarsha



2. ¥ Dantidurga
3. #* Krishna II
4., % Indral

Question Number : 26 Question Id : 97675532426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RITHC I BT IR DI U2
Options :

1. % Hrgqy

2. ¢ dfagH

3. % o fgar

4. % S UYH

Question Number : 27 Question Id : 97675532427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Salt Satyagraha took place in which year?
Options :
1. % 1930
2. % 1932
3. % 1878
4. % 1899

Question Number : 27 Question Id : 97675532427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
THS JATE forg ad garm um

Options :

1. ¥ 1930

2. % 1932



3. % 1878
4. % 1899

Question Number : 28 Question Id : 97675532428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a weekly Journal founded by Raja Ram Mohan Roy?
Options :

1. # The Brahmanical Magazine

2. % Samvad Kaumudi

3. % Mirat-ul-Akbar

4. ¥ Nabo Bidhan

Question Number : 28 Question Id : 97675532428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad & T o9 I ST W g I gRT WA I et T8l 82
Options :

1. % FTIuiihd TSl (The Brahmanical Magazine)

2. % Hdlg ﬁ'ﬂﬂ (Samvad Kaumudi)

3. % PRIT-IA-3{HR (Mirat-ul-Akbar)

4. + 919 fdYT (Nabo Bidhan)

Question Number : 29 Question Id : 97675532429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘Kandariya Mahadev Temple’ in is a classic example of Nagara style of temple architecture.
Options :

1. % Uttar Pradesh

2. # Chhattisgarh

3. ¥ Madhya Pradesh



4. % Bihar

Question Number : 29 Question Id : 97675532429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
¥ Ry efiar Agled HidR AR I el &1 TR Akt 61 U IpY IaU 2|
Options :
1. % WYY
2. % BHNETE
3. O eI
4. % fd8R

Question Number : 30 Question Id : 97675532430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Cheraw dance is the traditional bamboo dance of
Options :

1. ¥ Mizoram

2. ¥ Qdisha

3. # Assam

4. % Goa

Question Number : 30 Question Id : 97675532430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
WATI B IRIRS S TR
Options :

1. ¢ oI\

2. % anfeEm

3. % 34H

4. % Tar



Question Number : 31 Question Id : 97675532431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Yaoshang and Porag are the festivals of which of the followng states?
Options :

1. ¥ Manipur

2. % Mizoram

3. # Nagaland

4. % QOdisha

Question Number : 31 Question Id : 97675532431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I3 (Yaoshang) 3R RN IT URTT (Porag) g YR IoT & @W %?
Options :

1. ¢ HioQR

2. % oGy

3. % RIS

4. % 3fifg=m

Question Number : 32 Question Id : 97675532432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one of the following option is correct considering two statements given below in the context of Microeconomics and Macroeconomics?

1. Both are independent of each other
2. Many overlapping issues appear between them

Options :

1. ¥ Only 1 is true

2. % Only 2 is true

3. % Both 1 and 2 are true



4. ¥ None of above are true

Question Number : 32 Question Id : 97675532432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

EASIRIRIR SR Y iR & deH # el f3u 71 & oAl W faeR vd gu FHafeiad § 3 oiH 91 faded |gt 82
1. G Th g A WA g |

2. 3T a1 P o 9gd I oo 7E, foars 3 8

Options :

1. % ad 1 9

2. ¥ Had 2 9

3.% 1 AR 2SN TA T

4. % IR H I Bls 9 el

Question Number : 33 Question Id : 97675532433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT one of the economic issues in Indian economy?
Options :

1. #® The existence of chronic unemployment and under-employment

2. ¥ Equality in wealth distribution

3. #¥ Heavy population pressure

4. ® Low per capita income

Question Number : 33 Question Id : 97675532433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofifad 7 3 o1 HRd srfeaawi # T e Swer =81 52

Options :

1. % rdpIicid SRISHTRT 3R 3ed-IISHIR &7 3ifdd (The existence of chronic unemployment and under-employment)
2. ¢ Y-1-TURT faaRo1 § IHMT (Equality in wealth distribution)



3. % YR} ST BT ga1d (Heavy population pressure)
4. % T9g yfd e 3mg (Low per capita income)

Question Number : 34 Question Id : 97675532434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The northern plains of India are formed by the alluvial deposits brought by 3 rivers. Which of the following is NOT one of them?
Options :

1. # The Brahmaputra

2. # The Ganga

3. #® The Indus

4. ¥ The Yamuna

Question Number : 34 Question Id : 97675532434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRd & AT HGH! BT AT 3 e R A T Sdlie Had! (Sded) 9 gon ¢ | Fafified 3 4 o It 9 399 9 U 81 o7
Options :

1. #* §glyd

2. % T

3. % 4y

4. gyl

Question Number : 35 Question Id : 97675532435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Topping the list of hydroelectric power plants in India is the Tehri Dam in the highest hydroelectric power project in the country.
Options :

1. % Gujarat

2. % Uttarakhand

3. % Tamil Nadu



4. % Maharashtra

Question Number : 35 Question Id : 97675532435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wﬁﬂ%@?ﬂﬁ?{ﬁﬂﬁﬁ(hydroelectric power plants)ﬁﬂ:tﬂﬁmwmmﬂa@Wﬁ%ﬁﬁﬁﬁ@ﬁﬂ%l g
fore <o o R 2

Options :

1. * I[SRId
2. ¥ JTIRIES
3. % qiieHrg
4. % HeRTY

Question Number : 36 Question Id : 97675532436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which Indian state has the largest installed capacity of thermal power generation as on October, 2021?
Options :

1. # Uttar Pradesh

2. # Gujarat

3. % Jharkhand

4. ¥ Maharashtra

Question Number : 36 Question Id : 97675532436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3fCER, 2021 T b d YR g | 1Y fIegd ST B T Sa) RITOd & 82
Options :

1. % JW UK

2. % IRId

3. % PRES



4. TERTY

Question Number : 37 Question Id : 97675532437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following electromagnetic waves is used most commonly in point to point communication systems?
Options :

1. # X-Rays

2. ¥ Microwaves

3. % Infrared Rays

4. ¥ Gamma Rays

Question Number : 37 Question Id : 97675532437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁyﬁf@ﬁﬁﬁﬁq@ﬁ@ﬂaﬁuaﬁﬁg@rﬁg(poim to point) ARUAR Jonferdl & qatfiie SudiT @ o 62
Options :

1. % TR

2. ¥ HIgehIdd

3. % 3faRerd fbul

4. % T fo0l

Question Number : 38 Question Id : 97675532438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following class of animals apart from mammals, maintain homeostasis?
Options :

1. # Reptiles

2. % Fish

3. ¥ Birds

4. % Amphibians



Question Number : 38 Question Id : 97675532438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TAeTRal & sremar fFafalRad & @ o o Ul i garyfa (homeostasis) dTE QA dl 87
Options :

1. % WU

2. % HY

3. Uit

4. % JHIR

Question Number : 39 Question Id : 97675532439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which article on the Indian Constitution gives special provision as to elections to Parliament in the case of Prime Minister and Speaker?
Options :

1. % 314 B

2.9 329 A

3. % 369

4. % 271

Question Number : 39 Question Id : 97675532439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR AU & B § 3w & YuM H3t iR T & Amd 8 I J g9 & IR J o=y uraem™ g2
Options :

1. % 314 B

2. 329 A

3. % 369

4. % 271



Question Number : 40 Question Id : 97675532440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT one of the 3 pillars of democracy?
Options :

1. ¥ Defensive

2. % Legislative

3. % Judiciary

4, % Executive

Question Number : 40 Question Id : 97675532440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad o 9 &F 1 didhda & 3 WHl § 3 T 181 52
Options :

1. & &1

2. % fayTeT

3. % YrUIferepT

4. % BHTUITID]
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Question Number : 41 Question Id : 97675532441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The number of digits to the right of the decimal point in the product of 108.67 and 166.49 will be:
Options :

1.¥ 4

2.%5

3.% 7

4. % 6

Question Number : 41 Question Id : 97675532441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

108.67 3R 166.49 P UHHA H GRHAG g & ars 3R fova i g
Options :

1.¥ 4

2. %5

3. %7




4. % 6

Question Number : 42 Question Id : 97675532442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the greater number, if two numbers are given in the ratio 7 : 9 and the LCM of both these numbers is 126.
Options :

1. * 19

2. %20

3.4 18

4. % 17

Question Number : 42 Question Id : 97675532442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g <t TS 1 TReafl T SUId 7 : 9 8 3R 3 aH1 ST &1 AYTH JHUTE (LCM) 126 8, Tl o el 1d Be |
Options :

1. * 19

2. %20

3.4 18

4. = 17

Question Number : 43 Question Id : 97675532443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the value of y in the following equation?

45
128 x 97 —?—I— V256X 11 = 9xXy — 2222

Options :
1. ¥ 1645
2. % 1218



3. % 1628
4. % 1153

Question Number : 43 Question Id : 97675532443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TFaforaa TeRuT & T TE V' F AT A1 DI |

45
128 x 97 —?—F V256X 11 = 9xy — 2222

Options :
1. ¥ 1645
2. % 1218
3. % 1628
4, % 1153

Question Number : 44 Question Id : 97675532444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following numbers is divisible by both 3 and 9?
Options :

1. % 1987243

2. % 10010010

3. ¥ 10020300

4. ¥ 18906642

Question Number : 44 Question Id : 97675532444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fafafed & 3 oF @ e, 3 3R 9 a1 3§ fauTsa g2
Options :

1. * 1987243



2. % 10010010
3. % 10020300
4. % 18906642

Question Number : 45 Question Id : 97675532445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

75% of the larger number is 12 more than the 80% of the smaller number. If the ratio of the larger and smaller number is 4 : 3, then find the sum
of these two numbers.

Options :
1. % 145
2. ¥ 140
3. % 130
4. % 133

Question Number : 45 Question Id : 97675532445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSI AT BT 75%, BICT W& & 80% T 12 AP 5 | TS TST TAT 3R BT WA BT U 4 : 3 B, Al 39 aHI T3 HT INTH F1d
B

Options :

1. = 145

2.9 140

3. % 130

4. % 133

Question Number : 46 Question Id : 97675532446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Shanu purchased a wallet at 37.5% discount from Lucky. The wallet had been marked up by 100% above its cost price such that Lucky earned a
profit of T 150. Find the discount (in ) offered by Lucky.

Options :



1. ¥ 3450
2. % X350
3. #3400
4. %= X550

Question Number : 46 Question Id : 97675532446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

M, Tab! F 37.5% T W diale WRiadl g1 dlce IR ITb 53 Yol I 200% 31w Yoo Sifrd foar mar o, s da@e! &1 2 150 &1 arH
UTC G3fT | Sfereh! GRT &l 718 Be Jd B

Options :

1. % %450

2. % 2350

3. % 3400

4. % T 550

Question Number : 47 Question Id : 97675532447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum is divided among Sudhanshu, Shantanu and Sudesh in the ratio 3 : 6 : 7. If Sudesh gives X 250 of his share to Sudhanshu, then the new
ratio will be 5 : 6 : 5. Find the sum.

Options :

1. * 31080
2. % 32050
3. %32000
4. % 32500

Question Number : 47 Question Id : 97675532447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fepf} eFRITRY T GeTgy, =i SR R F S 3 : 6 : 7 P UTd H faaia foma mar| afe ge=r oma R & < 250 QU A1 2 aT g, df T
U 5 : 6 : 5 BRI P TR AT B



Options :

1. % 31080
2. % 32050
3. %2000
4. % %2500

Question Number : 48 Question Id : 97675532448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hrithik and Ranjana have certain sum (in ) in the ratio 9 : 5, respectively. If the simple interest received by Hrithik after 2 years at 20% p.a. is X
3600, then find the simple interest received by Ranjana at 12.5% after 8 years of investment.

Options :

1. % 34000
2. % %8000
3. % 36000
4. ¥ 25000

Question Number : 48 Question Id : 97675532448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fiid 3R IS & IR HHRT: 9 ¢ 5 & SIATd H $& AR ¢ | TG BIAD B 20% dIH &= F 2 T4 916 UT FTHROT SIS < 3600 §, < o1
DI 12.5% AP &2 I 9= & 8 T qTe YT AIEROT ST I DY |

Options :

1. % 34000

2. % 38000

3. % 26000

4. 5000

Question Number : 49 Question Id : 97675532449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A sum of 2 'y' has been invested by Alka in scheme 'M' offering 37.5% p.a. simple interest for 4 years. She then invested

2 1 = ] 1.3 BT g L
6— % of the interest received from scheme 'M' in scheme N’ offering 25% p.a. compound interest, compounded

amm'illy for 2 years. If the interest received by him from scheme “N” is ¥ 65880, then find the value of “y*?
Options :

1. % 117210

2.9 117120

3. % 117100

4. % 117200

Question Number : 49 Question Id : 97675532449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR, ST "M H 2 'y @Y 37.5% aTiies TIURUT &1 T aT W 4 a9 & forr i & ¢ i

=T xi‘ﬁrcrmmékﬁﬁ % NTIT A IE WAAT 'N' H 25% o0k =ehgia =T bl 2T UT 2 a9 &
ﬁnﬁﬂﬂamﬁr%ﬁﬁuﬁmw#wmzasssu% ar 'y @ HE AT F

Options :

1. % 117210
2.9 117120
3. % 117100
4. % 117200

Question Number : 50 Question Id : 97675532450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The speed of two trains is in the ratio 12 : 5 respectively. If the faster train can travel 480 km in 8 hours, then find the time taken by the slower
train to travel 225 km.

Options :
1. ¥ 9 hours
2. * 8 hours



3. # 11 hours

4. % 10 hours

Question Number : 50 Question Id : 97675532450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QI XETISTT ) ATel! T HHRT: STUN 12 : 5 5| AfG I YerTSY, 8 B H 480 km P G 7 R Fehll ©, it T YeTTS! GRT 225 km B G
d9 HA | T arel 99 J1d PR

Options :

1. ¥ 99cT

2. % gYdcT

3. % 119cT

4. % 109cT

Question Number : 51 Question Id : 97675532451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ronita started a work, and does that work alone for 12 days and then left the 60% work for Garima. If Garima can complete the remaining work
in 12 days, then find the time taken by Ronita and Garima to complete 62.5% of the same work.

Options :

1. # 5.5 days
2. % 6.5 days
3. % 7.5 days
4. % 8.5 days

Question Number : 51 Question Id : 97675532451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT, P B LS HRA 8 3R I B P b 12 7 T Bl 7 3R fhR 60% i, e & o B <t 81 afe v, Qw wrd &
12 fa B TRl &, a1 AT TR TIRAT GR1 39 B & 62.5% HF DI T HIA B - arel T9F I dy |

Options :

1. % 559el




2. % 6.59cT
3. ¢ 759
4, % 8 5dcl

Question Number : 52 Question Id : 97675532452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Average runs scored by Ajinkya in first 3 matches is 120. In the fourth match he scored some runs such that his average runs now become 130. In
the fifth match he scored 10 less runs than in fourth match and now the average of his last 4 matches is 165, The runs scored by him in first
match are:

Options :
1. ® 18
2.¥10
3. % 11
4. % 19

Question Number : 52 Question Id : 97675532452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tgd 3 Tl B, TSI GRT §E 1T S ¥ 120 81 913 9§ $6 3 991Y, fO 3@ ST Sid ¥ 130 §1 o1 ¢ | Iiad 7 #, gg 9
T B AT H 10 I HH TG ¢ MR 316 I 3ifaH 4 Tl &1 3id 165 8, O Uga 71 H 0P gRT fba- 39 418 T2

Options :

1. % 18

2.¥ 10

3.% 11

4. % 19

Question Number : 53 Question Id : 97675532453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The area of a circle is 110.25 w. What is its circumference?
Options :



1. * 105=n
2.¥21n
3. % 28
4. % 315n

Question Number : 53 Question Id : 97675532453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T G &1 & 110.25 78| SHDHT IR F1 87
Options :

1. % 105=n

2.9 21l n

3.% 28m

4. % 31.5n

Question Number : 54 Question Id : 97675532454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The cost of fertilizing a rectangular field at the rate of X 77.5 per m? is T 15500. If the length of the rectangular field is 17 m more than its
breadth, then find the perimeter of the field.

Options :
1. #* 60 m
2. % 59m
3. 66m
4. % 55m

Question Number : 54 Question Id : 97675532454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

277.5 Ufd m2 @1 R T fordfl SR @d H Wie ST &1 dFTd 2 15500 § | e AR Bd B s, STH! ASE A 17 m S @, ol
Ad BT URATY J1d B

Options :




1. ®* 60m
2. % 59m
3.9 66m
4. % 55m

Question Number : 55 Question Id : 97675532455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 17.32 cm is the diagonal of a cubical box, then what will be the radius of a spherical ball, if the volume of the ball is equal to the volume of the
cubical box. (nearest to an integer)

Options :
1.4 3 cm
2. % 2cm
3. % 5cm

4. % 1 cm

Question Number : 55 Question Id : 97675532455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I U TR S1a BT f[ddh Ul 17.32 cm 8, A I TMATHR TG B AT J1d B<, FoRIHT A, TIHR S1a b ST & SRT6R g | T
EIENICER]

Options :

1.¥ 3 cm

2. % 2cm

3. % 5cm

4. % 1 cm

Question Number : 56 Question Id : 97675532456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a solid metallic hemispherical bowl of radius 8 cm is framed into a solid cylindrical rod of diameter 1.6 cm, then find the total surface area of
that rod. (Closest to an integer)(use ©t = 22/7)



Options :

1. ® 2680 cm?
2. ¥ 2686 cm?
3. % 2786 cm?
4. % 3686 cm?

Question Number : 56 Question Id : 97675532456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 8 em AT ATQ TP B U1 & SHMATBR HER Bl 1.6 om T D1 Th 319 SA-IHR ©¢ H G Sl €, ) 39 S8 &1 Hdl gy
BT 1A i | (T YUITeh o &Y Fdhe)(n = 22/7 BT TR )

Options :

1. ® 2680 cm?
2. ¥ 2686 cm?
3. % 2786 cm?
4. % 3686 cm?

Question Number : 57 Question Id : 97675532457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The given table shows the number of laptops sold and the ratio of tablets and laptops sold in given five different
months.

Note: Total products sold = Number of laptops and tablets sold

Months Number of laptops sold | Ratio of tablets and laptops sold

January 1100 12:11
March 1250 17:23
June 3200 15:16
September | 1550 17:10

November | 1600

L
(s

What will be the ratio of total products sold in March to the number of tablets sold in the month of November?
Options :

1. % 23:12

2. % 21:12

3. % 19:10

4.+ 21:10

Question Number : 57 Question Id : 97675532457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



&1 % ATTORRT U 3eMT-3o0T FEET & a9 917 oueiy fr FEar 3R o 7 Eaee AR SUeEiT & g
P ERATT &I
die: d=F T Pl IcUIE = IF T oueig HR daee Fr wEm

STeTasT | 1100 12:11
A 1250 17:25
S§ | 3200 15:16
fergerT | 1550 17:10
daaT | 1600 5:8

A H I AT F ScUE] HR TdaR el A I T Il H HFUId fehder g
Options :
1% 23:12
2. % 21112
3. % 19:10
4. 21:10

Question Number : 58 Question Id : 97675532458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The given table shows the percentage of people who ordered Dal Makhni and percentage of people who ordered Rajma,
out of total people who ordered (Dal Makhni, Rajma and Mix Veg) and number of people who ordered Mix Veg on four

different days.

Note: Each person ordered only one dish out of given three types of dishes.

Days Percentage of people who Percentage of people Number of people who
ordered Dal Makhni who ordered Rajma ordered Mix Veg
Tuesday 20 28 350
Thursday 20 25 550
Saturday 10 45 470
Sunday 28 32 600

Find the average number of people who ordered Rajma on Thursday and Dal Makhni on Sunday.
Options :
1. ¥ 335
2. % 325
3. % 345
4. % 330

Question Number : 58 Question Id : 97675532458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



&1 715 arfere #, IR HoEr-edT T # (g F@eh, Tt 3R fFw IF) Ay = g g @ A7
W, 2T AW H1ET P arel Al @1 uiard HT THA #ET e arel o ufaa, it B 9w e
e arer SO @ Uidrd S_iaT ;A ¥

eOT & Ul O o 6T 70 919 UaT & USal H ¥ dhdd U O=d ol MY e

G T HEET 3ET e TSHT T g arar | Berg a=7 3T &=
aTer ST T ufaerg CiciCIRIGE G aTell AT T
HIeaX | 20 28 350
TEAR 20 25 550
S IGEIE 10 45 470
IferaT 28 32 600
TR FH T AR AR F gTe AW HER L arer e H HEa gEar 99w
Options :
1. ¥ 335
2. % 325
3. % 345
4. % 330

Question Number : 59 Question Id : 97675532459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The given bar graph shows the number of people(males and females) who went to mall and the percentage of females
out of total people who went to mall on five different days.

m Total number of people{male + female) who went to mall
m Percentage of female outof total people went to mall

: i i I i i I i

Monday Wednesday Thursday Sunday Wednesday Thursday Sunday

Find the average number of females who went to mall on Wednesday, Thursday and Sunday. (Correct to two decimal
places)

Options :

1. # 571.67

2. ¥ 581.67

3. % 561.67

4. % 551.67

Question Number : 59 Question Id : 97675532459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fear e ar e ute 3Hewr-3err fedr #, Ao A arel wen (gew HR AfEen) & g Hr #@e =
arer o e #F ¥ Aot & ufderd @ afar
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i I

TUIR, TFaR AR Faar # A T areh Ffenat H iEa TEw FF F (FOHT TF TG H)
Options :

1. # 571.67

2. ¥ 581.67

3. % 561.67

4. % 551.67

Question Number : 60 Question Id : 97675532460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The given line graph shows total number of products (Kurti + Pant) sold and total number of Kurtis sold out of total

number of products,by four different companies named as A, B, C and D.

1600 1450

400
200

Company & Company B CompanyC Company D

il [ Eir 4 Pant Sodd sl Kyt Sold

The number of Pants sold by company C is how much percent more or less than the number of Kurtis sold by company
A7

Options :

1. % 16%

2. % 15%

3. ¥ 10%

4. % 12%

Question Number : 60 Question Id : 97675532460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



f&ar e sEd-TE A, B, C 3R D @HE IR HAT-HAT HFUAT ERT o= T IcUrel df Hol &A1 (Fal
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Options :

1. % 16%

2. % 15%

3.9 10%

4. % 12%
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Question Number : 61 Question Id : 97675532461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate preposition.

The mother pined in the memory of her dead son killed by the man-eating leopard.
Options :

1. % about

2. % with

3. ¥ away

4. % off

Question Number : 61 Question Id : 97675532461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate preposition.

The mother pined in the memory of her dead son killed by the man-eating leopard.
Options :

1. % about

2. # with

3. % away

4. % off

Question Number : 62 Question Id : 97675532462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the CORRECT option.

Mother already prepared breakfast when we reach home.
Options :

1. * will be

2. % shall be

3. ¥ will have

4. # will be going to

Question Number : 62 Question Id : 97675532462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the CORRECT option.

Mother already prepared breakfast when we reach home.
Options :

1. # will be

2. # shall be

3. % will have

4. % will be going to



Question Number : 63 Question Id : 97675532463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the CORRECT option.

Let us study lesson carefully.
Options :

l.* a

2. % an

3. ¥ the

4. * No article is required

Question Number : 63 Question Id : 97675532463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the CORRECT option.

Let us study lesson carefully.
Options :

l.* a

2. % an

3. ¥ the

4. * No article is required

Question Number : 64 Question Id : 97675532464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the suitable phrasal verb from the options given below.

It is not right on your part to at this point of time.
Options :

1. # back on



2. % back out
3. * back at
4. # back up

Question Number : 64 Question Id : 97675532464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the suitable phrasal verb from the options given below.

It is not right on your part to at this point of time.
Options :

1. # back on

2. % Dback out

3. % back at

4. % back up

Question Number : 65 Question Id : 97675532465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the CORRECT collocation.

She at the disastrous sight in front of our eyes.
Options :

1. * burst at tears

2. # burst on tears

3. % burst into tears

4. % burst for tears

Question Number : 65 Question Id : 97675532465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the CORRECT collocation.



She at the disastrous sight in front of our eyes.
Options :

1. * burst at tears

2. # burst on tears

3. % burst into tears

4. % burst for tears

Question Number : 66 Question Id : 97675532466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Suggest the correct ANTONYM of the word 'obscure' in the sentence from the given options.

Her obscure replies to all our queries did not help solve the case.
Options :

1. # true

2. ¥ clear

3. % faulty

4. ¥ mysterious

Question Number : 66 Question Id : 97675532466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Suggest the correct ANTONYM of the word 'obscure' in the sentence from the given options.

Her obscure replies to all our queries did not help solve the case.
Options :

1. # true

2. ¥ clear

3. % faulty

4. ¥ mysterious

Question Number : 67 Question Id : 97675532467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the CORRECT option.

The teacher several examples to explain the concept.
Options :

1. # sighted

2. # sited

3. % seated

4. ¥ cited

Question Number : 67 Question Id : 97675532467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the CORRECT option.

The teacher several examples to explain the concept.
Options :

1. # sighted

2. # sited

3. % seated

4. ¥ cited

Question Number : 68 Question Id : 97675532468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the meaning of the given idiom.

'bolt from the blue'

Options :

1. # destroyed due to thunder and lightning
2. ¥ sudden or unexpected shock

3. % getting an electric shock

4. % death due to a mysterious reason



Question Number : 68 Question Id : 97675532468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the meaning of the given idiom.

'bolt from the blue'

Options :

1. # destroyed due to thunder and lightning
2. ¥ sudden or unexpected shock

3. % getting an electric shock

4. # death due to a mysterious reason

Question Number : 69 Question Id : 97675532469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the sentence part which has an error in spelling. If there is no error, select Option No Error.

The poor farmer was worried as both his daughters/ were of marriagable age and he wasn't able/ to find suitable grooms for them./ No error
Options :

1. # The poor farmer was worried as both his daughters

2. ¥ were of marriagable age and he wasn't able

3. * to find suitable grooms for them.

4. % No error

Question Number : 69 Question Id : 97675532469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the sentence part which has an error in spelling. If there is no error, select Option No Error.

The poor farmer was worried as both his daughters/ were of marriagable age and he wasn't able/ to find suitable grooms for them./ No error
Options :

1. % The poor farmer was worried as both his daughters



2. ¥ were of marriagable age and he wasn't able
3. % to find suitable grooms for them.

4. % No error

Question Number : 70 Question Id : 97675532470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Suggest the correct synonym of the word 'disgruntled' in the sentence from the given options.
The disgruntled visitors stormed out of the party hall.

Options :

1. # peculiar
2. ¥ annoyed
3. % proud

4. # superficial

Question Number : 70 Question Id : 97675532470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Suggest the correct synonym of the word 'disgruntled' in the sentence from the given options.
The disgruntled visitors stormed out of the party hall.

Options :

1. # peculiar
2. ¥ annoyed
3. % proud

4. # superficial

Question Number : 71 Question Id : 97675532471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill up the blank with appropriate preposition.

The two friends divided the marbles themselves.
Options :



1. # among
2. ¥ between
3. % to

4. % on

Question Number : 71 Question Id : 97675532471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill up the blank with appropriate preposition.

The two friends divided the marbles themselves.
Options :

1. ¥ among

2. ¥ between

3. % to

4, % on

Question Number : 72 Question Id : 97675532472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the CORRECT option.

The little boy has taken fancy to his uncle's moustache.
Options :

1.¥ a

2. % an

3. # the

4. # No article is required

Question Number : 72 Question Id : 97675532472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the CORRECT option.



The little boy has taken fancy to his uncle's moustache.
Options :

1.¥ a

2. % an

3. % the

4. ¥ No article is required

Question Number : 73 Question Id : 97675532473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the given proverb with the CORRECT option.

A leopard can't

Options :

1. # change its habits.

2. # change its home.

3. % change into a herbivore.

4. ¥ change its spots.

Question Number : 73 Question Id : 97675532473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the given proverb with the CORRECT option.

A leopard can't

Options :

1. # change its habits.

2. % change its home.

3. # change into a herbivore.

4. ¥ change its spots.

Question Number : 74 Question Id : 97675532474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the grammatically CORRECT sentence from the given options.

Options :

1. # The President as well as the board of governors have arrived.

2. ¥ Many a plan has been discarded by him already.

3. % The master together with his dogs go for a walk on the bridge every evening.

4. % Each member of the gang are expecting rewards.

Question Number : 74 Question Id : 97675532474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the grammatically CORRECT sentence from the given options.

Options :

1. #® The President as well as the board of governors have arrived.

2. % Many a plan has been discarded by him already.

3. # The master together with his dogs go for a walk on the bridge every evening.

4. ® Bach member of the gang are expecting rewards.

Question Number : 75 Question Id : 97675532475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word as per the context of the sentence.

In the Victorian century, the books of several liberal-thinking writers were and not allowed for reading.
Options :

1. # prosecuted

2. ® persecuted

3. ¥ proscribed

4. ® prescribed

Question Number : 75 Question Id : 97675532475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word as per the context of the sentence.

In the Victorian century, the books of several liberal-thinking writers were and not allowed for reading.
Options :

1. % prosecuted

2. % persecuted

3. % proscribed

4. % prescribed

Sub-Section Number : 2
Sub-Section Id : 9767551963
Question Shuffling Allowed : Yes

Question Id : 97675532476 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)
Read the following passage and answer the questions given after it.

The first turning point in my life was in 1961. I still remember, as a senior scientific assistant at the Aeronautical Development (ADE), I was the
chief designer of a hovercraft. The hovercraft, called Nandi, was ready and we were demonstrating its flight to many visitors. It was a popular
draw. One day, the director of the ADE, Dr. Gopinath Mediratta, brought a visitor - a tall, handsome and bearded man. He asked me several
questions about the machine. I was struck by the clarity of his thinking. 'Can you give me a ride in the hovercraft?' he enquired.

We took a ten-minute ride in the craft, which, in keeping with its name, hovered a few centimeters above the ground. I was piloting the vehicle, to
the surprise of the visitor. He asked me a few questions about myself, thanked me for the ride and departed. But not before introducing himself -
he was Prof. M.G.K. Menon, director of the Tata Institute of Fundamental Research. A week later, I received a call from the Indian Committee
for Space Research (ICSR, which became the Indian Space Research Organization, ISRO) to attend an interview for the post of rocket engineer.
When I went to Bombay to attend the interview, I was surprised to find Prof. Vikram Sarabhai, who was chairman of the ICSR, along with Prof.
Menon and Saraf, deputy secretary of the AEC (Atomic Energy Commission), on the interview board. I was struck by Prof. Sarabhai's warmth.
He did not probe my existing knowledge and skills; rather his questions were an exploration of the possibilities I was filled with. He was looking
at me as if in reference to a larger whole. The entire encounter was for me a moment of truth in which my dream was enveloped by the bigger
dream of a bigger person.

Sub questions

Question Number : 76 Question Id : 97675532477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Why was the visitor surprised?

Options :

1. # On seeing the hovercraft, Nandi

2. # To see the vehicle hovering above the ground

3. ¥ To see the narrator piloting the vehicle

4. % To be introduced to the chief designer of the hovercraft

Question Number : 77 Question Id : 97675532478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Among the options, what would be the most appropriate reason for Prof. Vikram Sarabhai not to ask the narrator any question on his existing
knowledge and skills?

Options :

1. ® Because he did not have much time during the interview

2. % Because ISRO wanted a hovercraft very badly that time

3. #® Because the narrator had the recommendation of Dr. Gopinath Mediratta

4. ¥ Because he was more interested to explore the possibilities of innovation that the narrator's mind was filled with

Question Number : 78 Question Id : 97675532479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate title of the passage from the options given below.
Options :

1. # The Joy of being a Pilot

2. % My First Interview

3. # The Chief Designer at ISRO

4. ¥ The first turning point in my life

Question Number : 79 Question Id : 97675532480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the tone of the passage?



Options :

1. # Ironic

2. ¥ Nostalgic
3. % Critical

4. * Humorous

Question Number : 80 Question Id : 97675532481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which word in the passage means - 'be suspended'?
Options :

1. # flight

2. ¥ hovered

3. % probe

4. * ride

Question Id : 97675532476 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)
Read the following passage and answer the questions given after it.

The first turning point in my life was in 1961. I still remember, as a senior scientific assistant at the Aeronautical Development (ADE), I was the
chief designer of a hovercraft. The hovercraft, called Nandi, was ready and we were demonstrating its flight to many visitors. It was a popular
draw. One day, the director of the ADE, Dr. Gopinath Mediratta, brought a visitor - a tall, handsome and bearded man. He asked me several
questions about the machine. I was struck by the clarity of his thinking. 'Can you give me a ride in the hovercraft?' he enquired.

We took a ten-minute ride in the craft, which, in keeping with its name, hovered a few centimeters above the ground. I was piloting the vehicle, to
the surprise of the visitor. He asked me a few questions about myself, thanked me for the ride and departed. But not before introducing himself -
he was Prof. M.G.K. Menon, director of the Tata Institute of Fundamental Research. A week later, I received a call from the Indian Committee
for Space Research (ICSR, which became the Indian Space Research Organization, ISRO) to attend an interview for the post of rocket engineer.
When I went to Bombay to attend the interview, I was surprised to find Prof. Vikram Sarabhai, who was chairman of the ICSR, along with Prof.
Menon and Saraf, deputy secretary of the AEC (Atomic Energy Commission), on the interview board. I was struck by Prof. Sarabhai's warmth.
He did not probe my existing knowledge and skills; rather his questions were an exploration of the possibilities I was filled with. He was looking
at me as if in reference to a larger whole. The entire encounter was for me a moment of truth in which my dream was enveloped by the bigger
dream of a bigger person.

Sub questions



Question Number : 76 Question Id : 97675532477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why was the visitor surprised?

Options :

1. # On seeing the hovercraft, Nandi

2. # To see the vehicle hovering above the ground
3. ¥ To see the narrator piloting the vehicle

4. # To be introduced to the chief designer of the hovercraft

Question Number : 77 Question Id : 97675532478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Among the options, what would be the most appropriate reason for Prof. Vikram Sarabhai not to ask the narrator any question on his existing
knowledge and skills?

Options :

1. # Because he did not have much time during the interview

2. # Because ISRO wanted a hovercraft very badly that time

3. # Because the narrator had the recommendation of Dr. Gopinath Mediratta

4. ¥ Because he was more interested to explore the possibilities of innovation that the narrator's mind was filled with

Question Number : 78 Question Id : 97675532479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate title of the passage from the options given below.
Options :

1. # The Joy of being a Pilot

2. # My First Interview

3. # The Chief Designer at ISRO

4. ¥ The first turning point in my life

Question Number : 79 Question Id : 97675532480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the tone of the passage?

Options :

1. #* Ironic

2. ¥ Nostalgic

3. % Critical

4. % Humorous

Question Number : 80 Question Id : 97675532481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which word in the passage means - 'be suspended'?

Options :
1. * flight
2. ¥ hovered
3. % probe
4. * ride
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Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551964
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 97675532482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R =i & 17 A faufers el
JISICIICIE| Teh ! foreri|

Options :
1. % & forw
2.9 IR
3.% 9

4. % ¥

Question Number : 81 Question Id : 97675532482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fYad @i # o 4t faufad smefe
UrST 3 S T 41 freft

Options :



1. % & forg
2. ¥ IR
3% 9
4. % ¥

Question Number : 82 Question Id : 97675532483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 3R ST | AT | TohaTfa=Ivm &1 o 91 9e 62
Options :

1. % ifdarae fearagym

2. % PIeardehich UMARIYUT

3. % GRATUETD foharfa=yor

R ECIECACRIICRINLY

Question Number : 82 Question Id : 97675532483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 3feR WISY |« a1 | forafaRIur &1 &1 1 3G 87
Options :

1. % Jifdaraes foparazivor

2. % DIardDish AR

3. % URHATUETES foharfaRy

4. ¢ AT fhaTfaRIvoy

Question Number : 83 Question Id : 97675532484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T 7ol Jaqd o 3713 | e & Tgad fa=sor gl

Options :

I UCIECACELL]




2. % gra-THe IR
3. % 3ffAfga aRwmuraras farivor
4. ¢ T aRAaRES fo=wor

Question Number : 83 Question Id : 97675532484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YTl TTS] HerHel o 313 | aTerd H Trger fa=iom gl
Options :

1. % T[Urardd fa=wur

2. % YraATH faRyor

3. % 3AfEd uRmATUarEs faIvo

4. + Figd yRATOEES oy

Question Number : 84 Question Id : 97675532485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe fat & a1 93 8, d ol &1 SIS g |
g =M & fore Ifd fapea g |

Options :
1. %
2. %
3. °Q
4, % K

Question Number : 84 Question Id : 97675532485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe fawt & 91 <98 81, @ fawmi o1 SIS g |
R =M & forg Sfd fapea 3|



Options :
1. %
2. %
3. °Q
4, % K

Question Number : 85 Question Id : 97675532486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
( + i BT WY Weg T G2
Options :

1. ¢ Fguit

2. % garoft

3. % garuit

4. % Foaroit

Question Number : 85 Question Id : 97675532486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I + aT0f" BT T Teg T2
Options :

1. ¢ groft

2. % il

3. % garuit

4. % Faruil

Question Number : 86 Question Id : 97675532487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fYga @@ & fae IRd s g1



3 IR & Ad ¥ I [APR 31yar &u uRad- ol T ped g |
Options :

1. % o

2. ¥ TR

3. % foout

4. % 3feR

Question Number : 86 Question Id : 97675532487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R =M & forw Sfd fasea 3|
3 TR & A ¥ I fABR 319ar U ufkgdd & I Hed Bl

Options :
1. % oM
2. ¥ IR
3. % fawi
4, % AR

Question Number : 87 Question Id : 97675532488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘SRR HT qATgaTd 1 82

Options :

1. ¥ &l-d

2. % gl

3. % I}

4. % QT

Question Number : 87 Question Id : 97675532488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
‘3R’ 1 YaTgaTe o1 /2

Options :

1. ¥ qld

2. % gl

3. ¥ IR}

4, % Q0

Question Number : 88 Question Id : 97675532489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FrafaRad o 9 SH 91 Weg T IRER [y &1 87
Options :

1. % dlg—Ha

2. % FR&R -8R

3. ¥ Hg - 3AHx

4. JdH —g&H

Question Number : 88 Question Id : 97675532489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad & ¥ & 91 Wss g1 IRER fad| 81 82
Options :

1. % dig-4g

2. % [Re&R - WER

3. % Yg - AHYK

4. gAY - geH

Question Number : 89 Question Id : 97675532490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



g 31 9 TR faR 31 Yhe SR aTdl I HEdd &
Options :

1. ¢ ggla¥

2. % I IR

3. % ygfaRiyor

4. % TR g

Question Number : 89 Question Id : 97675532490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 31 9 TR faR 31 Yhe A ATl Iy HEdd &
Options :

1. ¢ TR

2. % 3= AT

3. % gfagyor

4. ® ¥ dIY

Question Number : 90 Question Id : 97675532491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qr & vraferd werad ERGINI
Options :

1. % 3fqaar

2. #® S hYq

3. ¢ Aipifaaar

4. % FHHYT

Question Number : 90 Question Id : 97675532491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A § vraferd werad HEA |




Options :

1. % 3faqar

2. % S hYq

3. ¢ Aipifaaal
4. % AhHYA

Question Number : 91 Question Id : 97675532492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ag feelt ST a1 & &1dl &1 B 1 9g 82
Options :

1. % 9aHM BT

2. % Ydold

3. ¢ Hid BT

4. % 3quf YdHrd

Question Number : 91 Question Id : 97675532492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g ool ST 1> 916 § ST BT B 91 UG 82
Options :

1. % gdHH BId

2. % YHYddhldl

3. ¢ Yid=d ST

4. % 3qUT YddTd

Question Number : 92 Question Id : 97675532493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied & 9 & 91 U YdaTd &1 -8l 62

Options :



1. % AT YdbTd
2. ¥ Th e YdbTd
3. % 3T YdPTd
4. % QU YdPbId

Question Number : 92 Question Id : 97675532493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafaRad 5 I &1 91 g Yadhd &1 78l 67
Options :

1. * IH HddhTdd

2. ¢ qhTAA Ydbldl

3. ® AT YdPTA

4. % quf ydbTa

Question Number : 93 Question Id : 97675532494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘g8 O XGT | 1” A1 H HTel &1 B 1 1S 82
Options :

1. % AT YdhTlel

2. % QU YdphId

3. % Yid BT

4. ¥ IAHM BT

Question Number : 93 Question Id : 97675532494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qg S IGI 3 AT | BTel BT B AT e 82
Options :

1. % 31d YT




2. ® guf Ydobra
3. % Yoo ®1d

4. ¢ I PTA

Question Number : 94 Question Id : 97675532495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
dTeRI b T ST DI 4 82

Options :

1. % T AU HIAH

2. ¢ Jexg aur fagg

3. ¥ Qo dUTHMEAT

4. % T AYT S

Question Number : 94 Question Id : 97675532495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IR & U ST B A 82

Options :

1. % T AT GIH

2. ¢ Ierg dur faedg

3. % Rleq dYTHHAT

4. % TIAT AT Y

Question Number : 95 Question Id : 97675532496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“qg Hiadl B! & d1ag Tl g I¢

1 T X R[S Xeq P SHIE DI T Xeq ST
Options :



1. ¢ Ufgaar
2. % Roq
3. % BN
4. % AETY

Question Number : 95 Question Id : 97675532496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“qg Hiadl b $© d1ag T g ¢

a1 § 1o d 3RS Weq B SHTE I+ T Xeq; ST

Options :

1.  dfaqar

2. # Yeq

3. % HIAR

4. % HHEY

Sub-Section Number : 2

Sub-Section Id : 9767551965
Question Shuffling Allowed : Yes

Question Id : 97675532497 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

3T 7T T P eaYE e U SR i fou u usi & IR vl

gIciGR HIgd Pl Ul gRI T GRIHA B 39 TRE Al IS ST 33T 6] Tl | G <l I 31dTe I8 Y| Teb s8¢ ggl ART-41
m&mmmmﬁﬁmwmwwwauﬁwmﬁawm 3R GER BT T TP &9 WR <1 9ga-4 9<H fag
3iaft-anft U el I e UTeiR 3@ U §¢ g & UaR U1 S fahT X8T 4TI df 39 SR &1 g Hi Tal! Bl Tl 8! BTAeR
TEd IaHhR | US T¢I U1 I1ed ¥, 3 P I Hed &2 71 9! 39H] aRdfde 14 g2 Afde UTara = W% a1 faam o f sia 98 39
IR F 3R 10 B B IR el | SRaR 1 92 B 5T T B +ff AT | BTEER WIed oY & 939 9d U

Sub questions




Question Number : 96 Question Id : 97675532498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BICIGR UG DI HT 33T gl o

Options :

1. ¢ UHaTd gRI U GRIHT BT Holldh 3T ST
2. % YA GRI T SRIH DI FIET BT

3. % UHAId gRT U GRIHEd & [ §RI-YT gl
4. % YA gRT ST 9 HRAT

Question Number : 97 Question Id : 97675532499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g 3HTeHT A RRUR -1 I g3 1
Options :

1. % Ag=clul

2. ¢ e it

3. % gibg Iyl

4. % gdl <t

Question Number : 98 Question Id : 97675532500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
W e g1 | FAfed W s AT R?
Options :

1. % G UR HTHM ol

2. % JEHR JHHH ST

3. ¢ YUHR I o]

4. % BICI-HICT HM ST

Question Number : 99 Question Id : 97675532501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
ST R BT P IR 81 UT?

Options :

1. % glgd¥

2. % qED

3. % ATl

4.« UEdrdl

Question Number : 100 Question Id : 97675532502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BICIGR TEd fhdH 93 dal T2
Options :

1. ¥ SgH

2. % 99 Y

3. % R d

4. % HRY

Question Id : 97675532497 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

fQ 77U eI BT eATYE® U 3R A fau T sl & IR |

BICIGR AR I YT §RT U GRIH BT 3H R Hollh IS AT ST 38T Tgi ol | TSP 4T ol 3(aTeh 8 T | Teh s g1 ARge-aT
ST STeH! RIRUR il Y $fiR STl UR BTl =T TINY Teh 1Y H Teh BIcI- gl 3R G 81 H Teh 61y WR <1 9g -3 7=H forw
313t Ue et § Farar YISk 31d T &g gh & TgIR U1 a1 el T UT| Al 59 SR &I gb Hit el il Il 8! BIeaR
T8d gah? H US T | ggﬁn'@ﬁ 3, 38 YT T HEd 82 T Tgt 3BT aRAIdd 11 g2 AfdhT UHaTal = I & fear 41 & 3@ a8 39
IR T 3R T1d H B IR 61| S13aR U 9 81 8T U7 | S ot UT| STAER W1ed g H 98@R 9 M|

Sub questions

Question Number : 96 Question Id : 97675532498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TR UT5d &I 9T 33T gl a2
Options :

1. ¢ UHaTd gRT T SRIYE BT Ao SSTT ST
2. % MG GRI Teh SRIHS DI TRRT BT

3. % UFATd gRT U GRIHT & [T §RI-YT gl
4. % TAT gRT S 7 BT

Question Number : 97 Question Id : 97675532499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
q¢ 3MmeH! = RROR &1 e gaim ur
Options :

1. % dg=citl

2. ¢ Tt el

3. % Yibg gt

4. % Jrdf <t

Question Number : 98 Question Id : 97675532500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B amarer HRRd va s
Options :

1. % GHH UR ITHH o1

2. % 9B JHHME ST

3. ¢ OB G o9

4. % BIT-AHICT JTHMA o]

Question Number : 99 Question Id : 97675532501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T B DI DI IR 7T 41?2

Options :



1. % SER
2. % D
3. % Tpiaren
4. ¢ gl

Question Number : 100 Question Id : 97675532502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ICGR WIed fhaH do@) aa MW

Options :

1. ¥ SgH

2. % g H

3. % R d

4. % PRY
Disciplinel

Group Number : 6

Group Id : 9767551225

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Disciplinel

Section Id : 9767551679

Section Number : 1



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551966
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 97675532503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Equilibrium of design in the space describe in design.
Options :

1. * Emphasis

2. % Rhythm

3. * Colour scheme

4. ¥ Symmetrical balance

Question Number : 101 Question Id : 97675532503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e A feosT o graewy, fowgad . w1 affda st gl
Options :

1. = Yddid

2. % Y

3. % J A

4. ¢ UECY T

Question Number : 102 Question Id : 97675532504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the types of texture.

Options :

1. ¥ Fuzzy

2. # Circular

3. % Natural

4. % Artificial

Question Number : 102 Question Id : 97675532504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HH[d (CRDR) DT UHR I |

Options :

1. ¢ 3RUY (Boil)

2. % qO

3. % UThidd

4. % DM

Question Number : 103 Question Id : 97675532505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the first step of designing which is considered as foundation of design.
Options :

1. ¥ Concept

2. % Space planning

3. % Theme

4. % Balance

Question Number : 103 Question Id : 97675532505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fEomsfT & ugd wRUr &1 Ig BV, 5 fSis &1 SR 7 1 ST 8




Options :

1. ¢ HbheUl

2. % T8 B oI (Y W)
3. % fqug (i)

4. % Hqar

Question Number : 104 Question Id : 97675532506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the below design represent organic, classic,comfortable design?
Options :

1. ¥ Rustic

2. ® Retro

3. # Farm house

4. ¥ Bohemien

Question Number : 104 Question Id : 97675532506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRed & I 3 I fSTs sraudt, RUfRd, SiRmere S & fFRefud FRdl 52
Options :

1. % e

2. ¥ Q]

3. % BH g3y

4. ¥ SIgiag

Question Number : 105 Question Id : 97675532507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the height of a bar chair as per design standards.
Options :



1. # 20-22 inch
2. % 40-42 inch
3. % 30-32 inch
4. % 45-47 inch

Question Number : 105 Question Id : 97675532507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST AMS! & TR, T IR IR B $Hals &1 999 DIl |
Options :

1. % 20-22%9

2. % 40-42%9

3.9 30-32 59

4. % 454739

Question Number : 106 Question Id : 97675532508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the first step of design a furniture item?
Options :

1. # Material

2. % Design

3. % Cost

4. ¥ Purpose

Question Number : 106 Question Id : 97675532508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied o 9 fordh weifaR aTeh avd &1 S8 ®- BT Ugdl avul DI 91 52
Options :

1. % gl




2. % {39
3. % AN
4. ¢ TS

Question Number : 107 Question Id : 97675532509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a living room furniture?
Options :

1. % Sofas

2. % Coffee table

3. ¥ Book case

4. # Dinning chair

Question Number : 107 Question Id : 97675532509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed & I & 91, 96@ e (fdT wH) 1 HR T8l /2
Options :

1. % T

2. % PHIG! are 79

3. g Y

4. % UIH T (ST RR)

Question Number : 108 Question Id : 97675532510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following furniture’s are easy use?
Options :

1. ¥ Hydraulic

2. % Modular



3. ¥ Wooden
4. % Steel

Question Number : 108 Question Id : 97675532510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad & 9 ford TR & WefeR BT SUTRT HRAT ST Sl 82
Options :

1. ¥ gIESlfcidh

2. % HISLER

3. % ¥

4. % L

Question Number : 109 Question Id : 97675532511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is furniture?

Options :

1. ¥ Movable article suitable for living and working
2. # Items made from sand

3. # Items made from food combination

4. % Jtem made under water

Question Number : 109 Question Id : 97675532511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR T BidT 82

Options :

1. ¢ G 3R HT a3 & e Sugad I a%q
2. ¥ @Y I I

3. % G aeH 4 A o




4. % Saay A o

Question Number : 110 Question Id : 97675532512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following material used for mattress?
Options :

1. % Velvet

2. ¥ Foam

3. # Silk

4. % Wooden batt

Question Number : 110 Question Id : 97675532512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T, & forg Fafofed & 9 ford amsht &1 SuanT fosar simar g2
Options :

1. ® HEAA (9dd0)

2. B

3. % W

4. % APhol P U

Question Number : 111 Question Id : 97675532513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT considered as furnishing object?
Options :

1. ¥ Hinges

2. % Cushions

3. % Window Covering

4. % Doormats



Question Number : 111 Question Id : 97675532513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrofefed o 3 for ATel-All T ag T JIH1 SIell 82
Options :

1. ¢ Ddal

2. % DI

3. % fdSI pafi

4. % GR IS (SRHT)

Question Number : 112 Question Id : 97675532514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fittings refer to

Options :

1. # Cutting and Pasting

2. # Fixed items to wall

3. ¥ Free standing items in interiors

4. % Making new item out of waste

Question Number : 112 Question Id : 97675532514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fiefer I gIR@ R Rl
Options :

1. % PleA 3R Fud™

2. % GlaR 9 &g axganl

3. ¢ 3RS II H Wi FRR axga3fi
4. % 3ORY Y 8 g% & FH




Question Number : 113 Question Id : 97675532515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A small square size stuffed with cotton furnishing element is known as:
Options :

1. ¥ Cushion

2. % Carpet

3. ¥ Table cloth

4, % Sofa cover

Question Number : 113 Question Id : 97675532515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

w3 Y UL, TP DI NDHR SMHR dTel! T I T HEaAK 82
Options :

1. ¥ B

2. % DIaiA

3. % O9OR

4. % % BT ATARUT (NPT Hav)

Question Number : 114 Question Id : 97675532516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A drawing made from lines and circles to show relationship between areas is:
Options :

1. % Zoning drawing

2. % Schematic drawing

3. ¥ Bubble Drawing

4. ¥ Furniture layout

Question Number : 114 Question Id : 97675532516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

& & o ey UG RId B & o arsit 3R gl I 91 U SREH (ST T Hddl 82
Options :

1. % 3Tl SR (ST S5

2. % YISHTeG SRT (SET)

3. ¥ 9901 (J593) 3T (3187

4. % HHlR A3

Question Number : 115 Question Id : 97675532517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a graphic representation of all interior projects layered in 2D.
Options :
1. ¥ Drafting
2. # Rendering
3. # Blue Print
4. # Wall Drawing

Question Number : 115 Question Id : 97675532517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 3 H Wikd gt 3iafe uRkasmrsl o1 ufthes FReqor . sgarar gl
Options :

1. ¢ UR=UU[

2. % URSUTHU

3. % & flic

4. % TYfRY 3RWH (aTd SIET)

Question Number : 116 Question Id : 97675532518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



T SR (USieRHsET)  UeRiddRdrgl
Options :

1. ¢ Pemart ey

2. % & flic

3. % 07 3R (dgaRH ST

4. % 3IOH EWRAT (STTHIM A33T)

Question Number : 116 Question Id : 97675532518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Presentation drawings illustrates
Options :

1. ¥ three dimensional views

2. # blue prints

3. # construction drawing

4. % dimension layout

Question Number : 117 Question Id : 97675532519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Light lines can be drawn by

Options :

1. ¥ H or 2H pencil

2. % HB pencil

3. % 2B pencil

4. # Charcoal pencil

Question Number : 117 Question Id : 97675532519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofafed & 3 ke gRT geb! X@Td Wl o Tahell 572

Options :



1.+ H 4T 2H IR
2. % UB UR@
3. % 2B URQ
4. ® IRBIA URTA

Question Number : 118 Question Id : 97675532520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following material is used for Taj Mahal mosque interior side?
Options :

1. ¥ Marble

2. % Granite

3. # Plywood

4. % Gypsum

Question Number : 118 Question Id : 97675532520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

doTHed AdhaR & SHdRe U & fore Fafofeaa 3 3 g Il &1 ST fasan ST g2
Options :

1. ¢ YRR

2. % J15C

3. % WSS

4. % foom

Question Number : 119 Question Id : 97675532521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following wood is commonly used for interior furniture in India?
Options :

1. ¥ Sheesam and mango wood



2. * Sandalwood
3. #* Christmas tree wood
4. % Bamboo

Question Number : 119 Question Id : 97675532521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA H 3fialR® &ARaR) wHR & o urg: Fafafea § 3 forg awst &1 IugnT fasar sirdr 82
Options :

1. ¢ 2fH 3R 3 P dh el

2. % T

3. % fobquy ¢l Bl dbo!

4. % 919

Question Number : 120 Question Id : 97675532522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is common wood finishing?
Options :

1. # Turquois

2. % Varnish

3. % Smooth

4. % Soft

Question Number : 120 Question Id : 97675532522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I H1Y URwRl (g8 AR Farg?

Options :
1. % fORRIS
2. QIR



3. % IRV (Vg)

4. % Hg
Discipline2
Group Number : 7
Group Id : 9767551226
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Discipline2
Section Id : 9767551680
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551967
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 97675532523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What is the mixed ratio of mortar for external plastering?
Options :
1.9 1:4
2.% 1:2
3.%1:6
4. % 1:8

Question Number : 121 Question Id : 97675532523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ITeX! TR & fore dieRk &1 ffda srgard 1 811 82
Options :

1.¥1:4

2.% 1:2

3.%1:6

4. % 1:8

Question Number : 122 Question Id : 97675532524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following culture represent the detailed art and handwork in their interiors?
Options :

1. #* Rajastani

2. ¥ Kasmiri

3. % Japanese

4. % Chinese

Question Number : 122 Question Id : 97675532524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafied o 9 ford Teapfd §, 39 MTdRe Tl Bl | favgd Bl 3R gahal BT IGANT fandT 717 82

Options :




1. % JSRYE
2. ¢ HIERT
3. % SO

4. % T

Question Number : 123 Question Id : 97675532525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 frd TeR &t sialRe T GERm) # 396 fehwi™ & Iofig U d gkt 82

Options :

1. % ) iR gl

2. % YRAIG AR TSl

3. ¢ QUL 3HidRS Tl

4. % ST SffdR® Tl

Question Number : 123 Question Id : 97675532525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following type of interiors have living nature in their space?
Options :

1. % Chinese interior

2. % Indian interior

3. % Japanese interiors

4. % Bohemian interiors

Question Number : 124 Question Id : 97675532526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT form of interior art?
Options :

1. % Painting



2. # Sculpture
3. ¢ Theater
4. ¥ Wallpaper

Question Number : 124 Question Id : 97675532526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Prafifed § @ &1 0, e Tl ool 3 T e T8 2
Options :

1. % ferepan

2. % giidha

3. ¢ THA

4. % U (dleimR)

Question Number : 125 Question Id : 97675532527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which artist has made “The Mona lisa” painting?
Options :

1. ¥ Leonardo Da Vinci

2. # Claude Monet

3. % Edward Munch

4. % Jahangir

Question Number : 125 Question Id : 97675532527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"HIFTIORIT (The Mona lisa)" &1 < fd Hat®R 3 ST 412
Options :

1.  ferdrst @ fo=h

2. % Flls HiHC




3. % Usds HA
4. % SERIR

Question Number : 126 Question Id : 97675532528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT part of a visual art?
Options :

1. # Painting

2. ¥ Poetry

3. % Sculpture

4. # Drawing

Question Number : 126 Question Id : 97675532528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed & 3 & 1, T Sl BT T YR 718 62
Options :

1. % Tl

2.% Ug

3. % gfdpa

4. % 3G (IS

Question Number : 127 Question Id : 97675532529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the standard size of plywood available in market?
Options :

1. ¥ 4ftx8ft

2. % 2ftx4ft

3.% 6ftx9ft



4, % 10 ft x 10 ft

Question Number : 127 Question Id : 97675532529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR B SUASY [WIRGS BT HH® MHR a1l giHT Aligy?
Options :

1.9 4 ft x 8 ft

2. % 2ftx4ft

3.% 6ftx9ft

4. % 10 ft x 10 ft

Question Number : 128 Question Id : 97675532530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Skirting is measured in

Options :

1. # Sq. MT

2. % Running MT

3. % Liter

4. # kilogram

Question Number : 128 Question Id : 97675532530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T (@fEm® A AU g
Options :

1. # Sq. MT

2. % Running MT

3. % i

4. % foeum



Question Number : 129 Question Id : 97675532531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is site visit?

Options :

1. ¥ Self study report

2. # Seminar on material

3. % Exhibition of material

4. % Purchasing of material

Question Number : 129 Question Id : 97675532531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e yIor (we fafTe) @ g 82
Options :

1. ¢ W g RUie

2. % QU O GSt

3. % Gl o geRi

4. % qER Bt WG

Question Number : 130 Question Id : 97675532532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT considered as safety precaution?
Options :

1. % Wear proper equipment

2. % Prepare for emergencies

3. % Always carry extra pair of clothes

4. # Be aware of your surroundings

Question Number : 130 Question Id : 97675532532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fFroforfed o 9 f5a, JRen gdaraur =& A s g2
Options :

1. % IfId IudHRl W) TgaT

2. % Mg fufa & e gd damt

3. ¢ g 3fafed SISl HUS Ty TaT

4. % 30 URAY P! AHR Jdc gl

Question Number : 131 Question Id : 97675532533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the main purpose of interior design?

Options :

1. ¥ Improving space efficiency and functional usage
2. # To decorate elements

3. % To improve standard of living

4. ® To spend money

Question Number : 131 Question Id : 97675532533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3TN TSI HT T-T 353 F1 8idl 67

Options :

1. ¢ 3fafes & (space efficiency) 3R HTATHD IUTRT H JUR HAT
2. % TqAl/3M DI FSATdT HRAT

3. % Silqq TR U GUR HAT

4. % Y 0 B

Question Number : 132 Question Id : 97675532534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT the duties and responsibilities of interior designer?
Options :

1. # Determination

2. % Creating layouts

3. ¥ Demanding more money from clients

4. % Make space functionally safe

Question Number : 132 Question Id : 97675532534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3TN fEE=R & wdal 3R el 7, fafafed # @ o 1 aftifea T8t 82
Options :

. % TgHhcg

2. % TR (@33 Ao

3. ¢ TTEH! A 31T ¢ B T H=AT

4. % CHRM (W) B! YSHAEHD U § QRI&T T

Question Number : 133 Question Id : 97675532535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What of the following skill is required in interior designer?
Options :

1. ¥ Knowledge of design trends and styles

2. % Good looking

3. # Wealthy

4. # Demanding

Question Number : 133 Question Id : 97675532535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3l feeisR & fore fRgfefad & @ o9 91 i siuféd g2




Options :

1. ¢ T&3s 3t vafal oI Aferdt &1 7
2. % fa@— 1 331

3. % A

4. % fehiféT

Question Number : 134 Question Id : 97675532536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who invented interior design?

Options :

1. ¥ Elsie de Wolfe

2. % Nate Berkus

3. ¥ Bobby Berk

4. % Peter marino

Question Number : 134 Question Id : 97675532536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fpam sifdie® f&ome @Efelar fesms) @1 sfaser favar um
Options :

1. ¢ T St dicth

2. % 9§59

3. % qldl 9

4. % Y ARAT

Question Number : 135 Question Id : 97675532537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When was the first evidence of interior design found?
Options :



1. # In pre historic human dwellings
2. % In 18™ Century

3. % In 19" Century

4. ¥ In stone age

Question Number : 135 Question Id : 97675532537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3R feere @fefar fewrs) o1 vy Jiey &« firer Ut
Options :

1. % YRR e Srardl o

2. % 189 grelred!

3. % 199 qrredt

4.+ UNUIHT H

Question Number : 136 Question Id : 97675532538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where is display design commonly used in interiors?
Options :

1. % Restaurant

2. % Apartments

3. % Bungalows

4. % Showroom

Question Number : 136 Question Id : 97675532538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3fiaive R vef (et fETs ur: w8l SuahT &1 it 82
Options :

1. ¥ 3eRe



2. % 3UIdHc
3. % §ITcl
4.« Y=

Question Number : 137 Question Id : 97675532539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is display design?

Options :

1. ¥ Visual orientation of situations

2. % Exhibition of food

3. % Seminar

4. % Expert lecture

Question Number : 137 Question Id : 97675532539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
vesi (f$v) fesme a8

Options :

1. ¢ TRufaai &1 T2y siftfa=amg

2. % W UeR

3. % TEt

4. % ARy ARAH

Question Number : 138 Question Id : 97675532540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a type of display design?
Options :

1. # Closed display

2. # Architectural display



3. % Open display
4. ¥ Food truck

Question Number : 138 Question Id : 97675532540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafiRad & A o1 O U UeR & vl fewme a8 82

Question Number : 139 Question Id : 97675532541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the famous street display of Mumbai?
Options :

1. ¥ Kala ghoda

2. % Modern display

3. % Artdisplay

4. % Jeweler display

Question Number : 139 Question Id : 97675532541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied o @ das &1 uiig I el (Ree fewal) o a1 g?
Options :

1. ¢ BT IIS]

2. % 3Ny Tt

3. % &l Uax



4. % Siigd gzt

Question Number : 140 Question Id : 97675532542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The horizontal member of building is known as:
Options :

1. ®* Column

2. ¥ Beam

3. % Slab

4. * Foundation

Question Number : 140 Question Id : 97675532542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR P &faS 3/ayd &l 3R fdg 719 I ST SiTdT 82

Options :
1. % Y
2. ¥ ORA (@)
3. % W9
4. % YR (Hl9)

Discipline3
Group Number : 8
Group Id : 9767551227
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No

Break time : 0



Group Marks : 20

Is this Group for Examiner? : No
Discipline3

Section Id : 9767551681

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 9767551968

Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 97675532543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the horizontal portion of set of stairs?
Options :

1. ¥ Tread

2. % Riser

3. ® Noising

4. % Railing

Question Number : 141 Question Id : 97675532543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hifeat & T=ra o1 &fds YR o1 Bidl 82

Options :



1. %/a_s’(Tread)
2. % v

3. % GRS

4. % e

Question Number : 142 Question Id : 97675532544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Standard height of residential window is:
Options :

. % 1.8m

2.% 1.2m

3.% 09m

4, % 04m

Question Number : 142 Question Id : 97675532544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AR ISP BT Wb HaTs [t gl 82
Options :

1. % 1.8m

2.% 1.2m

3.% 09m

4. % 04m

Question Number : 143 Question Id : 97675532545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The below level of window is known as:
Options :

1.+ Sill



2. * Lintel
3. #* Arch

4. % Foundation

Question Number : 143 Question Id : 97675532545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ragat (fdeh) & e R @1 o1 Bl Sl 82
Options :

1. ¢ gl

2. % Wad (fdidq)

3. % HEE

4. % YR

Question Number : 144 Question Id : 97675532546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a type of foundation?
Options :

1. % Step foundation

2. # Pile foundation

3. # Shallow foundation

4. % Circular foundation

Question Number : 144 Question Id : 97675532546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ol § 3 & W@, Th YHR 31 i 781 o2
Options :

1. % ¥y g

2. % Ugd Hig



3. % Jydil g
4. ¥ FAIBR Hld

Question Number : 145 Question Id : 97675532547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following impact on interior design due to COVID-19?
Options :

1. # requirement of minimum space

2. ¥ requirement of eco-friendly materials

3. # requirement of more water in houses

4. ® requirement of lifts

Question Number : 145 Question Id : 97675532547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafRed § & 91, PIfds-19 F HROT SRR ST |R 81 9HTE 72
Options :

1. % AqH RIH P SaRIDhdl

2. ¢ TR AU DI ATl

3. % TRI U HfED UM bl STl

4. % 9T DI SIS

Question Number : 146 Question Id : 97675532548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How does interior design affect on environment?
Options :

1. ¥ Production of interior materials

2. ® Wastage of food

3. # Wastage of water



4. % Wastage of fuel

Question Number : 146 Question Id : 97675532548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3R fEee, Tafarur 31 {65 YR yuIfad sel 82
Options :

1. ¥ 3{idRed QAT BT IdTG

2. % WTE BT AT

3. % O &t ol

4. % SYA DI AU

Question Number : 147 Question Id : 97675532549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is environmentally suitable design?
Options :

1. ¥ Made from eco-friendly materials

2. ®# Made from plastic materials

3. # Made from animal skin

4. % Made from concrete

Question Number : 147 Question Id : 97675532549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafaRad o 9 oH W fews gaiarur & SA$d 62
Options :

1. ¢ JaiaR0T 3% d Il ¥ fAfHa

2. % RS Il @ Fffa

3. % URsff 3t @ra ¥ Ffa

4. % depic 4 Afffq




Question Number : 148 Question Id : 97675532550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What kind of pollution affect day to day life?
Options :

1. ¥ Air pollution

2. % Water pollution

3. # Noise pollution

4. % Soil contamination

Question Number : 148 Question Id : 97675532550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I T UG, <A Sffa= &1 guifad FRar 82
Options :

1. & dig UgyUl

2. ® S UgyUI

3. ® &9 UGyl

4. % AT HGuU

Question Number : 149 Question Id : 97675532551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tulips farm is which type of landscape?
Options :

1. # Desert landscape

2. % Mountain landscape

3. % Coastal landscape

4. # Forest landscape

Question Number : 149 Question Id : 97675532551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

I B, 76 UbR o1 ufesd (dewhT) 32
Options :

1. % I aRey

2. ¢ T4dIg uRexg

3. % geadl gNed

4. % IR

Question Number : 150 Question Id : 97675532552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT a type of shrub?
Options :

1. # Lilac

2. # Camellia

3. % Mango

4. % Azalea

Question Number : 150 Question Id : 97675532552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofifed # 9 319 W, th UoR 3 1! 181 82
Options :

1. # doblg (Lilac)

2. % W(Camellia)

3. ¥ 3H

4. % 3{SIfCHT (Azalea)

Question Number : 151 Question Id : 97675532553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT a type of pond?
Options :

1. #* Fish pond

2. % Lotus pool

3. # Koi pond

4. ¥ Water fountain

Question Number : 151 Question Id : 97675532553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeafad & § o9 T1, Th UHR o1 dde T8l 82
Options :

1. % TSdl DI dlad

2. % DA dIAd (HHATDHR)

3. % Plg A

4. % S IhodRT

Question Number : 152 Question Id : 97675532554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a type of creeper?
Options :

1. ¥ Pumpkin

2. % Rose

3. % Butterfly bush

4. % Juniper

Question Number : 152 Question Id : 97675532554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad & ¥ o W, e USR &t ddr g2



Options :

1. ¥ &g

2. % TS

3. % TS g
4. % SR

Question Number : 153 Question Id : 97675532555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is sound insulation?

Options :

1. ¥ Reduce transmission of sound

2. % Improve sound quality

3. # Improve indoor sound frequency

4. ® Reduced indoor heat

Question Number : 153 Question Id : 97675532555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1 AL (IS SYARM) &1 1T 82

Options :

1. ¢ G BT AR HH B

2. % &gf P oGl H GYR HRAT

3. % 3ffaR® @ smgil ¥ YUR BT
4. % 3R T HH BT

Question Number : 154 Question Id : 97675532556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What of the following is NOT a type of fire extinguisher?
Options :



1. * Water base
2. * Foam base
3. #® Powder base

4. ¥ Paper base

Question Number : 154 Question Id : 97675532556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FEfed o ¥ 319 91, U UBR B RIS 81 52
Options :

1. % STl ST

2. % BIH YR

3. % YIS YR

4. BT MYTRA

Question Number : 155 Question Id : 97675532557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which water systems used in residential premises?
Options :

1. ¥ Hot and cold

2. % Air cold

3. # Press cold

4. ¥ Thermal

Question Number : 155 Question Id : 97675532557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sfrarefta ufeRt ® b1 St el &1 SuanT fova i 82
Options :

1. ¢ TR 3R G



2. % g 2fiqferd
3. % g9 YMdfera
4. % qUg

Question Number : 156 Question Id : 97675532558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT a type of wire?
Options :

1. # Live wire

2. # Neutral wire

3. % Earth wire

4. ¥ Pink wire

Question Number : 156 Question Id : 97675532558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FEfRed & ¥ 3 91, T YHR 1 dR 81 62
Options :

1. % YRMYdd dRR (¢Igd dIIv)

2. % IR dR

3. % 0% dR

4. TUH I”R

Question Number : 157 Question Id : 97675532559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a Carpentry tool?
Options :

1. ¥ Hammer

2. ® Tape measure



3. #¥ Chalk line
4. ¥ Nail cutter

Question Number : 157 Question Id : 97675532559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofifad 7 3 o1 91, SIgHH 9 Jeifid Iudo 181 82
Options :

1. % galeT

2. % U Bidl (¢4 HIoR)

3. ® b g

4. A HR

Question Number : 158 Question Id : 97675532560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who is Carpenter?

Options :

1. ¥ A person who make things out of wood
2. # A person who make things out of metal
3. # A person who make things out of plastic

4. ® A person who make things out of glass

Question Number : 158 Question Id : 97675532560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FHIYHH! (BRUCR) fbd H-T 11 82

Options :

1. ¢ T8 ¥ aeq (Hd A aren fad

2. % Y1q Y aeqy FfHa s aren e

3. % WIRe® ¥ axqu MiHd & arar dfad




4. % Hig Y QY FAffd HA e fad

Question Number : 159 Question Id : 97675532561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Carpenter should have from which of the following skills?
Options :

1. ¥ Physical strength

2. % Emotional strength

3. # Social status

4. % Wealthy

Question Number : 159 Question Id : 97675532561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HFFHH (@RUR) H FEfoliad & § HH W1 HIed g1 T

Options :

1. ¢ TIRING g

2. % YHdIHD Jedl
3. % g fRUfd
4, % YddH-

Question Number : 160 Question Id : 97675532562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a type of Carpentry?
Options :

1. ¥ Joister

2. % Soft

3. % Hard

4. % Manual



Question Number : 160 Question Id : 97675532562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed & @ oF 1, Fgsite! (@RUE) &1 U6 UHR 82

Options :

1.¥ \_FﬁET(Joister)

2. % g (Soft)

3. % HAR (Hard)

4. % gWMHT (Manual)
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Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1
Sub-Section Id : 9767551969
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 97675532563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which software is NOT used for 3D rendering?
Options :

1. # Sketch up

2. % 3D max

3. ¥ Microsoft word

4. ¥ Photoshop

Question Number : 161 Question Id : 97675532563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3D URSUfRE0 R & ot fory Iigeaer o1 IuanT Ag) fasan ST |2
Options :

1. % Whd 30

2. % 3D R

3. ¢ AP 98

4. % ICIIY

Question Number : 162 Question Id : 97675532564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which basic software used by interior designer for 2D drafting?
Options :

1. ¥ 2D CADD

2. # Sketch up



3. # 3D max
4. ¥ Photoshop

Question Number : 162 Question Id : 97675532564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2D URETUT (ST & ToTT SHiaRes FeoeR g1 ford 7d SiteduR &1 SEHTd faaT STl 52
Options :

1. ¢ 28t Hivgrst

2. % Whd 3

3. % 38T Oy

4. % ICIIY

Question Number : 163 Question Id : 97675532565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the purpose of CADD ?

Options :

1. ¥ Reduced time of manual drafting

2. % Too lengthy

3. # Hard to use

4. % Give perfect 3D drawing

Question Number : 163 Question Id : 97675532565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

CADD &1 350 1 82

Options :

1. ¢ AT UREUUT (A3 STOET) BT THT HH Bl
2. % §gd 9HY ol

3. % IO H D




4. ® I 3D AHRT (SIS U&H Bl

Question Number : 164 Question Id : 97675532566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the disadvantages of photo shop?
Options :

1. #® Freedom of image editing for print and web

2. ¥ Expensive

3. ® Unlock creativity

4. ¥ Management and control on editing

Question Number : 164 Question Id : 97675532566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiad 7 9 o 91 wier 2 (photo shop) B aI9/EIH ]2
Options :

1. ® a1 3R 39 & fore o9 Jure o wadsrdr

2. ¥ HEM

3. % IEATHGA URd BT

4. % TUTGH BT UG SR iz

Question Number : 165 Question Id : 97675532567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What are the professional skill required in interior designer?
Options :

1. ¥ Critical thinking and problem solving

2. # Speak in five foreign language

3. % Give expensive treat to clients

4. % High in education



Question Number : 165 Question Id : 97675532567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3R fSemgR & forg fafaRad & @ & 91 URiaR SIRra uférd giar g2
Options :

1. ¢ Tg<aqul RRide SR Ten gard

2. % Ui faq=it yrwrai &1 7=

3. % UIgh! Bl Hell [dbed UM BT

4. % I fRiféra

Question Number : 166 Question Id : 97675532568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is communication?

Options :

1. ¥ Exchanging information

2. # Exchanging documents

3. # Sharing experience

4. # Sharing confidential agreement

Question Number : 166 Question Id : 97675532568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IR 18I 87

Options :

1. ¢ A1l BT 3M-UaH

2. % TSIl BT SMTEH-UGH

3. ® 3{JHT IIAT DAl

4, % Mo HH%?ICII I PRl




Question Number : 167 Question Id : 97675532569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a professional skill?
Options :

1. ¥ Non punctual

2. % Creativity

3. % Team work

4. % Leadership

Question Number : 167 Question Id : 97675532569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied & 4 o149 91, T URIaR DIl (Wbl Reper) a1 22
Options :

1.« JHY BT U « HAT

2. % JIATHD T

3. % A 9% (Tg ¥ )

4. % 9gd

Question Number : 168 Question Id : 97675532570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the full form of SWOT?

Options :

1. ¥ Strength Weakness Opportunity Threads
2. % Strength Workload Option Trend

3. # Strength Worship Option Trend

4. # Strength Workload Opportunity Time

Question Number : 168 Question Id : 97675532570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
.Y, 3121 (SWOT) &1 quf =0 |1 82
Options :

1. ¢ KX Ji9 St 95y

2. % LY Thells RME ¢S

3. % Wr IRY f@H s

4. % B IHAS SR eren

Question Number : 169 Question Id : 97675532571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is estimate?

Options :

1. ¥ Calculating cost of material and quantities
2. ® Calculating interior designer’s fees

3. # Calculating material

4. ® Calculating cost of project

Question Number : 169 Question Id : 97675532571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UIgh e (TRHC) T gidT 82

Options :

1. ¢ Gt 3R | &1 ARTd Bt IO
2. % AR SR & Yeob B TUHT
3. % GrEfl &1 TOMET

4. % GRIISHI B AFTd P AT

Question Number : 170 Question Id : 97675532572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What is measurement sheet?

Options :

1. ¥ Document used to calculate quantity of material
2. % Document used to calculate quantity of labor

3. # Document used to calculate quantity of electricity

4. ® Document used to calculate quantity of water

Question Number : 170 Question Id : 97675532572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

H109 Useh (HoRde 2ite) o1 81T 22
Options :

1. ¢ Ul B G Bt ITUHT 64 b oI Ugad gxdids
2. % T I HEHT DI TUHT DHR & [T TR GxATaS
3. % fooTcll &t 1 B TUET B o U Ugad garasl
4. % 56 B HIAT 1 TUAT B P (7T Ugerd adiaed

Question Number : 171 Question Id : 97675532573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is bill of quantity?

Options :

1. ¥ Document prepare for cost consultant

2. % Document prepare for workers

3. # Document prepare for landscape designer

4. ¥ Documents prepare for interior designer

Question Number : 171 Question Id : 97675532573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ft aifts wifefest o gian 82

Options :



1. ¢ ST IRTARIGTAT & fort daR far T gxara
2. % Yl & fow dOR foran T gxaeaw

3. ® ey fSWR"R & faw dur forar mar gxaad
4. % 3iale fEwe—R & fore daR fasan mar gxaraw

Question Number : 172 Question Id : 97675532574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a type of budget?
Options :

1. # Balanced budget

2. % Surplus budget

3. # Deficit budget

4. ¥ Tender

Question Number : 172 Question Id : 97675532574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofifed & 9§ 319 1, S6 3T TP UHR 76l o7
Options :

1. % Hgferd aoic

2. % 3RV §wIc

3. % UIC P Folc

4.« Ffdar

Question Number : 173 Question Id : 97675532575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is source of finance?
Options :

1. ¥ where business gets money from



2. % where business gets raw material
3. % where business gets good labor

4. ® where business get land deal

Question Number : 173 Question Id : 97675532575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fod w1 Ad R B2

Options :

1. ¢ SgT ¥ a9 &) o e |

2. % Sgl Y I &) Sl I o 8
3. % Sgi ¥ qa9rg B 35T 4 e g
4. % TgT Y aU &1 Aie # oHH a8

Question Number : 174 Question Id : 97675532576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is project report?

Options :

1. # Synopsis of business idea

2. ¥ Document provides overview of proposed business
3. # Final report for load approval

4. ® Case study of business plan

Question Number : 174 Question Id : 97675532576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

URESHT 3T (Uotee RUid) gt 89

Options :
1. ® Y f[9aR &1 IR
2.  TRAIAd I BT AdAIh USH B ITdl SIdTa




3. % YR 3fHIGA & forg Sifad smadn (wrgaa Ruie)
4. % A IS BT HY T

Question Number : 175 Question Id : 97675532577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the RIGHT formula of profitability.
Options :

1. ¥ Net sales — Cost of goods sold

2. # Net sale + Cost of material

3. % Net sales — Labor work

4. ® Net sale — Rent of the place

Question Number : 175 Question Id : 97675532577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ATl & foTT Tgt G D1 T BT

Options :

1. ¢ g fasp! - fapid A1d ot arra
2. # g foept + ArEh &) ArTa

3. % fgd faw! - s o

4. % {99 fash! — R &1 fobrran

Question Number : 176 Question Id : 97675532578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT considered as financial ratio?
Options :

1. # Profitability

2. # Liquidity

3. # Solvency



4. ¥ Occupancy

Question Number : 176 Question Id : 97675532578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied o 9 ford faxfta srurd =&Y @ e g2
Options :

1. % AMHYcdl

2. % dxddl

3. % BURNYIEHT

4. AT (SHTRgUH)

Question Number : 177 Question Id : 97675532579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a type of product design?
Options :

1. % Coco cola bottle

2. # Chair

3. % Ball pen

4. ¥ Chocolate pastry

Question Number : 177 Question Id : 97675532579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufafad 8 @ oF 91, Idre f$9E &1 Th UHR 8] 82
Options :

1. % Plpl BT DI Add
2. % Ul

3. % g Uq

4. ¢ didaic UK




Question Number : 178 Question Id : 97675532580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is design strategy?

Options :

1. ¥ Profitability + Value for people

2. # Net sale + Value for people

3. # Net sale — Profitability

4. ¥ Net sale — Value for people

Question Number : 178 Question Id : 97675532580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fesTe oI o= gt 82

Options :

1. ¢ ATYYEdT + AT & o g

2. % f4ad foen! + AT & fo g

3. % Yo foht - arHuedr

4. % Ty faspt — ol o forg g

Question Number : 179 Question Id : 97675532581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a characteristic of design?
Options :

1. # Usability

2. % Utility

3. % Desirability

4. ¥ Profitability

Question Number : 179 Question Id : 97675532581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fafiafed 7 @ o O, foomg ot foRvar 18t 82
Options :

1. % JOSgHIadT

2. % IUIIRTT

3. % 3[Ueuitgdr

4. " AU cdl

Question Number : 180 Question Id : 97675532582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What are main basis of Product design?
Options :

1. # Form and Color

2. % Form and Material

3. ®# Form and Texture

4. % Form and Price

Question Number : 180 Question Id : 97675532582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3G FEOe & - STUR S A 81d 82
Options :

1. % WEY R

2. ¥ WEY 3R IR

3. % WEY 3R fa=urg

4. % WY 3R DT

Discipline5
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Group Id : 9767551229

Group Maximum Duration : 0
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Group Marks : 20
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Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 97675532583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Visual merchandising refers to

Options :

1. ¥ Marketing practice

2. % Money planning

3. * Logo design

4. * Project planning



Question Number : 181 Question Id : 97675532583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A HY-fawha (fagsra A amgioi) J G g1
Options :

1. ¢ fauum ufafdr @ fe dfges)
2. % ¢ GISHT (HH1 =)
3. % ol fgsreA

4. % gRAISH FaIoH (distae =)

Question Number : 182 Question Id : 97675532584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT an element of Visual Merchandise?
Options :

1. % Store exterior

2. ® Store layout

3. # Store interior

4. ¥ Store customer

Question Number : 182 Question Id : 97675532584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaied & 9 & 1 earE® Ha-fawd (fagsrd A ergionT) &1 Te dd T8l 82
Options :

1. % TR P ARG

2. % WR S Bl
3. % WR & dN® &4
4. ¥ ®R & UEH




Question Number : 183 Question Id : 97675532585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the main purpose of Visual Merchandising?
Options :

1. # To earn money

2. % To make retail space more attractive

3. # To relax customer

4. # For entertaining customer

Question Number : 183 Question Id : 97675532585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS HI-[ad (A3 T ST13ionT) o1 T3 35 R 32
Options :

1. % o 3{fSTd BT

2. ¢ R W &Y 3R 3MHYH T

3. % gD B fayifa Ua™ w1

4. % YIgh!| BT ARG BRI

Question Number : 184 Question Id : 97675532586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following element is NOT used for Visual merchandising?
Options :

1. # Signage

2. % Lights

3. % Store layout

4. ¥ Music

Question Number : 184 Question Id : 97675532586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

TS Ha-[ad (fAger A ersion) & forg Fafafad & & fod Id &1 SuanT 181 fova sirar g2
Options :

1. % QRAdrs (T3

2. % WISC/TDT

3. % WR &I Ul

4. ¢ Gt

Question Number : 185 Question Id : 97675532587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT use for conference table?
Options :

1. ¥ Triangular

2. # Square

3. # Circular

4. ¥ Hexagonal

Question Number : 185 Question Id : 97675532587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A B Hl (BB caa) & [org HafalRad & ¥ by SHR o1 SUANT A8l favdt Srar
Options :

1. ¢ Bopivi

2. % JHR

Question Number : 186 Question Id : 97675532588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What is the standard height office space?
Options :
1.9 10 ft
2. % 20ft
3. % 30 ft
4. % 40 ft

Question Number : 186 Question Id : 97675532588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HATCR RITF B A ST fba-t grl 82
Options :

1.9 10 ft

2. % 20ft

3. % 30 ft

4. % 40 ft

Question Number : 187 Question Id : 97675532589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a requirement of office design?
Options :

1. ¥ Smoking room

2. % Reception area

3. ® Seminar hall

4. % Pantry

Question Number : 187 Question Id : 97675532589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad 7 @ oF W, sraiay fSHga 3t Te 3Me/3nazadmdl gl o2

Options :




1. ¥ YU Hel
2. % WA &7
3. % TIg Dl
4. % I3 USR

Question Number : 188 Question Id : 97675532590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is traditional office layout?

Options :

1. ¢ Individual offices built in

2. # Creative and inspiring working space
3. # Focus of comfort of users

4. % Focus on technology

Question Number : 188 Question Id : 97675532590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

URUR® ST TR (LSS SHifthy demac) Fufeiad § 9 & 1t g2
Options :

1. ¢ AT gud S

2. % TATHSD 3R R B

3. % JUIARTHAS & R W digd

4. % qop-ilh W higd

Question Number : 189 Question Id : 97675532591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is most important design elements in hotel lobby?
Options :

1. ¥ Waiting area and reception



2. # Luggage room
3. # Center table
4. # Entrance of lobby

Question Number : 189 Question Id : 97675532591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gicd 31 dlel B fSeTz & o9 Aol dd H1F 3 82
Options :

1. ¢ cllafl &5 37R WTd Hal

2. % YMHME v &

3. % Bl A (HR <o)

4. % Qe BT YAGR

Question Number : 190 Question Id : 97675532592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT modern concept of Hotel interior design?
Options :

1. # Luxurious lobby

2. % Concept of art light

3. # Eye-catching color and texture

4. ¥ Exterior wall paint

Question Number : 190 Question Id : 97675532592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 & O, glcd & SR fSoe- &1 enyfe Sauron T8t 82

Options :

1. % quayuf afat

2. % HATHD YR Bl ATYRUT




3. % 3MHYe W AR Iy
4. ¥ 9183 4laRI R Ue

Question Number : 191 Question Id : 97675532593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Why hotel interiors are important?
Options :

1. # To make it look beautiful

2. ¥ To make it comfortable

3. # To make space user friendly

4. ® Due to increase competition in hotel industry

Question Number : 191 Question Id : 97675532593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gled & 3ffdRe I 3 Hedqul gid 82

Options :

1. % YD WEY Y& §H & forw

2. ¥ 3 RIS I & fo1g

3. % fCHRIT B STANHAISH & SIHd - & Qg
4. % gled I H dgat Ufaegyi & SR

Question Number : 192 Question Id : 97675532594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is corridor?

Options :

1. ¥ Long passage in a building which leads to room door
2. ® Waiting area near reception

3. # Washing area



4. ® Passage inside the washroom

Question Number : 192 Question Id : 97675532594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TfRIRT (PIRSR) T BT 82

Options :

1. ¢ Tl SART & T IRAT, S HHRY & <dTell dp Sildl §
2. % AT 87 & fAepe udier &=
3. % QTS & &

4. % YUY H& P 3 Il

Question Number : 193 Question Id : 97675532595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a commercial design consideration?
Options :

1. ® Keep structure versatile

2. ¥ Do not provide safety

3. # Provide personalize space

4. ® Keep aesthetic upgrade

Question Number : 193 Question Id : 97675532595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fofefad & @ o I1, e raaie feers faur 78t 82
Options :

|. % T D] TEIGINT QT

2. JRETYSH A HAT

3. % SfRITA RIF UG BT

4. % Gicuidd IAT




Question Number : 194 Question Id : 97675532596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a Commercial design?
Options :

1. ¥ Bungalow

2. # Restaurant

3. # Retail shop

4. % Warchouse

Question Number : 194 Question Id : 97675532596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fofefad § ¥ o I1, e e {5 A8} 82
Options :

1. ¢ §Ial

2. % IERC

3. % g1 gb M (Rea i)

4. % TMaMH

Question Number : 195 Question Id : 97675532597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is aesthetics?

Options :

1. ¥ Appreciation of beauty

2. % Appreciation of humor

3. % Appreciation of talent

4. ¥ Appreciation of cost

Question Number : 195 Question Id : 97675532597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

GieRedr 31 gt 82
Options :

1. ¢ Gl B W]
2. % BRYUYIG DI IR
3. % GiduT & TR
4. % T D IRl

Question Number : 196 Question Id : 97675532598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is Commercial design?

Options :

1. ¥ Planning of business sector

2. % Planning of residential sector

3. # Planning of financial sector

4. ® Planning of construction

Question Number : 196 Question Id : 97675532598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

grforfues fEwrs aar gidt 82

Options :

1. ¢ Y &F D1 Aol
2. % AR &F I Aol
3. % fq<iig &= &1 aiern
4. % A0 Bt Ao

Question Number : 197 Question Id : 97675532599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select Checklist point for data collection.
Options :

1. ¥ Location and condition of site

2. % Weather conditions

3. # Garments

4. % Shoes and tools

Question Number : 197 Question Id : 97675532599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sl Hehar o fog Sl foig (depferee @rge) &1 = Hifvu|
Options :

1. A B AR SR =

2. % TOIH B G-I

3. % Ry

4. % S 3R IUHIUI

Question Number : 198 Question Id : 97675532600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is tender?

Options :

1. ¥ Invitation for bid for project

2. # Invitation of event

3. % Invitation of exhibition

4. % Invitation of conference

Question Number : 198 Question Id : 97675532600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAfaer 82



Options :

1. ¢ URYISHT & folE dlelt g oAl
2. % HHH BT THAT

3. % YR & A

4. % T BT HAT

Question Number : 199 Question Id : 97675532601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the folloiwng is NOT governmental interiors?
Options :

1. ¥ Court room

2. % Cultural building

3. # City halls

4. ¥ Multiplex

Question Number : 199 Question Id : 97675532601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFafafad 7§ § o W), WeRY 3i7dRe I 781 82
Options :

1. % ®ICwH

2. % GRPpIdPb Yo

3. % Ry gld

4. ¢ O

Question Number : 200 Question Id : 97675532602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Religious interiors are influenced by
Options :



1. % People

2. % Cost

3. % Material

4. ¥ Symbolic concepts

Question Number : 200 Question Id : 97675532602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gififee sfiaRee umT . AuHfddgd gl
Options :

1. % Hfaqdl

2. % ANTd

3. % gt

4. ¥ UciibTeD STYRUNST



